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n'y X7 n"1N

Y2 PYAYT MO M2 R''5TO1T RIN ORI "D PR KRBT 717 AR "D mow XY 7''72 'on
MW 20T NAR RIN ORT DDA 2T NAR 23 MBI RTMAA MWPKRY XY B0y
190 BT RO 9D A0 T MN2D TR T2 MY NPT 2R NOT21 RIN R RYI2APT
MAPY NPY RYIAPT 127 9DITY KT 9DV WWaT IR FPURD R2OWT IRTI M2 Xin "'y

15"P1 N30 SIW 2N SYa AN

1) mwn

OR ROR 1°0212 N2721 XYY 2°27 NAR K21 17920 5w 17925 700 2 078 9 R
D°11OV '3 17721 YW 17Mon PN 1

2) Xmaat.v A7

a) The mawn needs to teach that there is a npnnn of o nov '3 for both oo niak and
70210 NoN2)

X3P R97 10210 No721 YaR 277 DR ROX 1N KD KT
APV 93 PN R
P RYT 070 DAk 9aR

TPy 9 PN R KNP

D7 NAR RPIT RIAR 77
v'"3 PN KYAPT

T°0219 N33 RPIT RIDX 1797
V"3 PN KOTPY MPT

1°0212 N3721 K9R °10 K7 R

3) mooin

a) The mawn needs to teach that there is a npnni of ondv '3 for both 712 on the one
hand and 217 nnx and 1°0213 n>121 on the other hand

10210 N33 OO PR PaR

D0 POAYT M2 RP1T RIAKR X7

12 K9 10 RY ORT

D2 PN IR DV Y RYT 0"a P
Py
PN DY POAYT T2 DaR o7 AR RPIT RIHR 717 Q77 NAR ROR °I0 XY X
any DY P Y XYT 1°0210 N37AN 7°0210 N>7aNn
v"A NPRITA "A0
4) X"wan
a) Nwp

i) Similar to the xm>>1x in the table for 112 where the X120 of *sv pony is alone

enough for both sides of the xm>"x

(1) why isn’t it enough for the &7 to rely on the &120 of ¥°2p as in the next

table

X¥°2p X7 10210 N>721 PaR
APV 93 PN R

D7 NAR RPYT RINR M0
0"\ PN RYAPT

Qo177 NAR ROR 210 R OXT

PN VOAPT 0O NNR DaR
21750 'A% N

1°0210 N2721 RPIT RI1NAR 797
©"3 NP2 %0 Yap ’YT

170212 N2721 KX 1N K7 OX)

(2) and why isn’t it enough for the X213 to rely on X120 of &1 "np as in the

next table




mnp N?7 070 DR 2R 1°0212 N2721 K17 RIAKXR 717 7°0212 ND721 N7X 21N R X7
APV 93 P 1R RO 0" PN NP MPT
"MPT 1°0212 N33l Pl N?7 20 DnR RP17 RIAR 70 0777 NAR ROR 210 K7 R
'A% NV PR RO 0" NP2 %30 MNP NP
270w
b) v

i) =ais both yoap and w1 mp

ii) It follow that once we know that 12 doesn’t need a nprnn of more than 'a
°mov it’s a M wo that 2°ni1 nnx and 10210 n2121 don’t need a npna of more
than o°mov "

n'yv70 n"1N

TMIRDY H''OY N5 IR 1IN RIN MR IS NRINI YRD KDY "o 2%aR awhe n''ta
7O NOTA 9% AR N7 K927 2R 29WHST NpRaT ayuw v''wes avpn 'tnnw
ST TR WP KD O''R 0D HRwa I PRI NI DR PIRmT 1009w abenae
SONWNAT QXA 717172 'OIN2 TAPD AR 2''Y 1" DRY N DR 2YB0 Ko7 whDb
YRR MO DY POYRY PTIBARY KPR RP2T 2R RAPY IND 11 291aR b avphoaT

1)

2)

3)

4)

5)

6)

7)

P'"T7Y NI
"5 according to the xoaa of mooin
a) manwva on naw with o°vbo of nwna is 7oK because nwna is 27 7Po0m
mawn here
a) 0°1m9Y A 17°2n YW 12Mon ooYhon DR PR
7!

a) o°v2o in the mwn means 17 XX wWRY 0°3a8 that need npnnn because they’re 7201
927 and are Sma° Pwp

mooin as explained by x"wann
a) noRw

i) Why doesn’t *"w say that the 7awn refers to o°vo0 of nwna that need npnnn
because they’re 9277 7°01m

R"wAn

a) our xo7x of "mowr says that manwn on naw with o°y%o of nwna is “nn because
they’re not 2271 7o — and for this X0 it’s a mw*w»s that *"wA can’t say that the
mwn deals with o°vo0 of nwm

o of 7" inonwnT own "N at .v a7
a) o°voo of oax aren’t 727 7Pom — the mawn requires npnnn for ov1ax because of 770

X"



a) For n"1 nvw —it’s possible that 2°y20 of nwn1 are 271 7°01 as in the X073 of MvoIN
in 5w — and that the mawn can’t refer to o°y%o of nwni because the 7awn deals
only with the pri of n7%n and o°¥%0 of nwni aren’t 7%0 7°¥n

T T
NI 7002 A" 'K 7720 22 T Xalo

Sy BoY "1 SIRTI PR DAR NPMIT N0 "D 12 vmsa 1''72 [2 Ty 7]
B2 2R IDTNT RY 2P 10 ROWP MaARD RDR Y2 1APD WD ROITT 19027 N0 19D
TOPAR T R 122 ROR RIN 7T XY ORT 2W P27 YRWRT 9oy "D nThbh RN

T'"my DR PR

TRIND RT 277027 IR DoY 110 PART KWK TIIDY ROVNT 2w w4 7R
SARP RNWTT OUDT 29272 792 197 127 PO DR KPR 91991 RDR 4D RO

1)

2)

3)

4)

T mY AR 2DV TRWWT 7792 MDD ROINT
First 7a7pn
a) mwn
i) DomDY '3 1A Hw PNID 1 PO 10 AR RPKR 17020 SW 127 N0 M2 27X N0 XY
Second nn7pi according to the ko of >"wA

a) Xwp — 2m>2 001 M2 nnd — what does a Pn1> that’s ¥pap 23 By "2 have to do
with 112

b) yy7on of »ar 1w 1712 Pnon" — the mawn doesn’t deal with a M3 that’s 23 5y 12
ypp

C) NXWp — "11an Hw 1A POhn 10 OR ROX I since — as explained by »"wain 1"7
1n°9 — we’d know by X720 that the 7awn means 1712 2n1on

d) y1°n —the mwn says 12 Pmon for 1onm npn — o°vao of this y17°n aren’t relevant
here

Third nn7pi — qwnn of the xana
a) npYorn of »ax and X237 0n "I¥RT 7Y 1712 K00 TIN0Y XA PR

i) »ax relies on X120 to hold that pwxa can be =0 the %21 of his M2 to his side
of the nxn and if his 10w (°aw) is later 7931 a 112 on the other side of the 2xn he
needs to be M2 %51 P°nn six oonov from 1712 591 of PIwRA

i) x2anrelies on a p7 from the mawn (as we’ll explain below) to hold that 1wx"
and 1w each needs to be 1712 %% P> three o°now from the ¥

Twnn of the X na as explained by »"wA in wwaw 12 Pmon 7"y
a) Nwp to »ax

i) The explanation of the mawn by »»ax himself that "°1w 1712 Dnion" supports the
muw of X217 and is a X°wp to »ar because these words imply that wxa had to



5)

6)

7)

8)

have a 5nm> of three o°nov that separates his 12 %%n from the 2% — while for
»aK the words "yman o7 10 or ROKR" would have been enough

b) The y17°n of the &3 for »ax isn’t relevant here

mooin disagrees with >"wn and isn’t 0713 that the X na in the second nnpi asks i
"2 P 10 R XX — because moon disagrees with the X120 of »"wn that we’d
anyway understand that the 72w means 1112 52

R"wAnn

a) mooin could also have asked that >"w~ is 7m0 himself because >"wA in his
explanation of the x*wp to »ax says that the x*wp is based on the X1 by »ax
himself that 11w 1712 »non

Twni of nvoin — "aw> wo " the &0 of »anoH

a) For xa1in fact the X3 doesn’t ask >1n1°91 — because &2 relies on the word ">m3"
as we’ve explained

b) The x>wp applies only to »ax and asks why he said "1°1w 12 2mon" because
we’ve shown that for *»ax the words "y112n P rai 19 XPX" would have been enough

X"WAn at 2w w3 7"Ra

a) The precise closing words of ndoIn in "2w»5 W ym" are ... »aRT X2HR 70"
2OMDY W 11121 PO 10 OR ROX 21007

b) but moaoin doesn’t mean for »ax that the nawn should actually have said nww"
"o now — instead nM»voIN means only that for »ax if the mawn had said 12 ox XHR"
"man P inn we’d have been waon by X120 that the pnna needs to be oonov qww

c) For asimilar 7277 in a different context see 1122 nnd 7"7 MooIn where nvoIn sets
out the mv>w of " (whose details aren’t relevant here) that the X213 asks rins"
"7 PP 19 DR XOR °In°71 D02 ovom) 1122 — and 190N doesn’t set out a number
of onoy

NN "ax A"Th 2 P70 2 T Xalo

N29%1 B'""op "D 9N YO aRW X7 TO0DR NIT R'awnh wp "0 MK Man ''7a
TINT DY PR TOIRT ORTY 1712 N0 R 2DV TROW PRI OPAY TR0 MNT
D237 TO05 M7 MARD DANR 17727 D123 RITR 17920 PR 112 D10 PR Wwphpt R
BRI DPpY RO R xR {20751 ') DIAR TRWNRMY QWY PONTY TR MY

1)

2)

3)

PMITY A D) aRanaw yvan M2
First inTpn — mawn at ;12 97
a) DR " 727 1 1R DR PRTN

Second n7pn — »ar says that 7wy can be 1712 %0 210 to the 1¥n ina "Wy nrRw 77w
m12% — because in a N1M12% MWy AR 77 we’re not wwin that this will be po a »aw
who will be 9911 a 112 later and will need to be o°nsv Y porian all by himself

maoin



a) Xwpto »ax

i) Inamma? "Wy arRw 7w why aren’t we wwn that 7w will be P2 a »w
even if 1w isn’t 991 @ M2 because — if PwrA isn’t 7210 to the 7x» it will be
enough for »w later to be p>n7n his 17>k three oonov less than nnax 7"> from
the 2xn because this aprnn will be 3K 7" from 1712 591 of Pwsn — but if Pwxa
IS 1712 55 7m0 to the 1¥n the »1w will need to be > rn his 19°x a full max 7"
from the qxn»

4) R"wn
a) X°wp to the x>wp of mooin

i) "27 7" in the mwn ought to mean “from the 2nm> of the 712” to avoid pron by
the 12°x to the n1> of the 712 as well as to the 5711 of the 712

ii) It results that even if (as required by 827) WX is P> the 551 of his 12 from
the 2xn three onov that count as 1712 Pm> —1w will need to be p°nan his 1x a
full mnx 7"> from the 237 in order that the 19°% not be P11 the three o°nov of
the 5n1> of NwxA that extend to the xn

b) yn

i) Butif "127 3 72°87 nx pponn" refers also to a7 %03 it results for »ax that
1WA by being 12 %%n 7210 to the 2x» will cause *1w to have to be i his
12’} even further — namely 7 7" plus three asmow from the 1¥n to avoid prn
to 1712 > of wxA that extends three o°now into the 77w of »aw

DIY' 01902 A"h 2" TN A 7N N T X2Io

Y77 23 DY AR U Doy "D 1 wNDK RNN2 ONRT 23K KUK 1D 202 2 ' A
TWORT IR 29792 N2 277 MW ;70 RO KD 297°2 K22 DY PINIRD RDINT X120
R® 1927 297°2 K2 192 7IR0D N7 PIPL PYAR RTIRPAY 19 RN PRT RO 0 S

'™ 29772 N2
1) xp»M32

1 2OMDL AWOW PN T IR 1712 DI AT IXDM 1712 0T A7 2°7°2 R YO0
MOV WOV PN

2) X mxaccording to the xo7x of 221w o190 as explained by m»oin

a) Nwp — This is a X°*wp to »ax who says 1wx can be 210 to the qxn

b) The y7°n of the X3 isn’t relevant here

c) Twna of the Xm3 — 0¥7°2 K27 0X7 °51 RANI Y2 RPT 77917 D2 KDMVYKR 2°7°2 K2
3) mooin

a) Xwp

i) The xn>912 would be a ®*wp to »ax even if it didn’t mention 2°7°2 X2 — why
does the X nx in its y17°n explain the wyon the xn>>1a teaches by dealing with
0°7°a K2



b) v

i) 7% w19 XN°°12°0MNT 2R
4) R"wan
a) Nwp

1) Since it’s obvious from the &n>>72 itself that there’s a 8720 to say 0°7°2 X2
should require a pnnn of more than oonoy '

i) Why didn’t the X3 answer for »ax that " 1x&w 0°7°2 X2" and that’s why a
7pnan is needed in the first place

b) y»n

i) The X nx assumes that it’s possible to distinguish between 2°7°2 X2 and X2 X7
0*7°2 on whether a ipnn of o°now '3 is enough — but it’s not 92non that o°7°2 X2
needs a pn0n and that 2°7°2 X2 X2 needs no npnn; at all

N T
‘D1 7ND% 1Y 20T XA T 270 N DT Xio

Bo2 Dar bRk e DA oA RwAmn 1D BNoh R 1T R [R Ty 0 7]
2IYHD RITT 277 DA AYYR WD IRD 2P DM10R WP 2177 10075 3'1121 7' 9N2) 2Don
WY YRR PTRIRR RDR R1T KD 21202 IND onwnT 7''72 'owna eph n''anh
29! my

Ml X?'T XA ' 270 N NDT X2Io
YRR RN TOAT BN "D IRDA TAD TR0 77T 29012 T 97 SINPT SR RPOT ow
"D 91 RPYT ROTAT RDOR 27 297507 9221 B"'op "2 1''R RPNXa 17 "0 7 o
7977 RNIM2 772 INPTR RRNZ2 MIKRT 2L MaRD RT M1 RPYT P'T whsh RN
125 TR MM 2050 DI 1927 RINT ANOW "D NT7AD TR0 1T 21002 T
MR KD ORY IR DYa D 2''INY TONNR AL TR Dyaw Py XY M I9INR)
77 9D IOAY MARD AR PR TORY PR RIT PN DY RN 1T 07 RRIN2
291231 NDORY NN P2 KONR 120 TR MR KRBT TR0 0102 1ARD '0INT wanw
RT7TI50 2w19% ART 9" 7 MOIND K2 W WA 20yt 19N 92 Dar 2vnab
By W'Y A7 29 72 R2T 1APD 110D A1 9PaTY 2OYNTA A1 1T B''o RoT

1) > A7 mwn
a) Rw™M
1) NWAR "7 I1mn PO 10 OR ROR 1720 77WH 10 12°R DR YO° KD
b) o0
i) IX27 7737 20 7N IR0 T7AD M0 AT 2°Na 78
2) Xn»2



3)

4)
5)

6)

a)

07277 NTIAY 72 KW 1KY NIAR T

X713 as explained by >"wA

a)

b)

xwp from the x> of the mawn to 827 who says 1w can’t be 90
i) 7210 0757 NTI2Y DWW IR KT 0727 NTIY DIWAT KNV
iaRi

i) Rnnx Po0onT 11°P0Y SR 827 — with the result that the 12°) of w1 wouldn’t be
1w P71 by its oww and the only reason for 7P is 0157 N7V 27D

X0 of 221w’ o190 on the qwnn of the Xna — "KNI1¥A 721717 RD0ON N1 RP>T"

R"wAn — IR2 of the xo7x of 1w oo do

a)

b)

d)

By °n1 xp>7 the X3 proves from the xo°0 that the mawn must deal x»nxa also for
”:N

Here’s the proof

1) Presumably the &5°0 on o°n12 972 i1 applies also where Pwra was vy a 7w
12% that isn’t a P>t — and *aw is later 7m0 a 12X 77w that is p°ma even if there’s a
173 because oww of the 79°k can be vwann under the 17

i) Now
(1) even »ax agrees that saw can’t be 720 a P

(2) And since the mawn still says 7210 711 7230 71 — meaning that *xw can also be
Tmo — it must be also for »ax that the mawn deals xn11%a where 2w w can’t
be vwonn

Xwp

i) Mmoo says at .10 77 at ovaox TR 7"7 that the mawn deals only with where both
mTw are 127 w or both m7w are %103 YW — because a npnnn greater than niak "1
is needed where one 77w is a 12% 77w and the other is a 12X 77w

YN

i) mooin still accepts that the & mx here assumes that the mawn deals also with
where one 777 is 122 Hw and the other is 19°} W — this is consistent with the
maww of 111 21 12 X217 at .0 77 that a npnna greater than Nk "7 isn’t needed
where one 77v is 127 5w and the other is 19°x Hw

Tqwnan of X"wann

a)

5"wann is o7 the words "ynw ®n" in place of "n1 xp>7" and understands that the
X3 asks from the xo°0 a further Xwp to 827 who says 7m0 1°k wK and that the
XT3 answers "Xnnxa on1 oo

NO'0 NN'X DN X 2T 1 770 N T X2Io
bya 272 7' H''RD 10 1R TRY 1M DTM2 9NR 01 M KD RPN N aw

DR Ry IR

10



Ml X' T A" TN T 270 N NDT KXo

TITT ATYRT 1D TIR0R N ORI MIPRNT IRW2 2RIYDT 790 1D R RPT 7''7a 'on
SITT 22 RWATIMT ORI (VAR KD ORBR 27 %10 X299 Doy "1 99T v
BaR X279 KPR 277 an77 AR X K77 D12 '0IN7 1200w 17D 0 " ;79T
Y97 9N FTAT TNAT RNAD T D NODT RPPT ROWT JIVARP K27 JMAMPT ARy
o' my

1) mnpa

a) 1327 hold vxy nX p°n1a° po1an 9y even where the P 1 doesn’t count as »7°7 5%

b) >o1 "1 holds that vaxy nx p117% P>t Yy only where the P> counts as "7>7 >3
2) XnrM2

a) 12 WP M7 1020 YW IIRIN NN P2 9T L. DR N9 K
3) X

a) N2H Rwp

X777 N9 Y21 XN XD K77 [23W K77 77 N9 DAY TXIN RDRT Ry
T2y [WRD

b) v n
i) "IRw 77°7 —it’s only for 71707 that we’re 9p°n in favor of PwrA
4) wnn of the X ma
a) M XIR? NP P2 NDI AN OR 7Y °INT CIRW 7777 N1 KPYT
5) nmoon —xe2 of "n1 jprT!
a) Since the mawn doesn’t list for other 111 that an o7p ox and Wy can be 7210

b) Is must be that pwxa can be 720 only for 92 no1 that involves a 777 — this
proves that "1xw 777

6) mooin
a) Nwp on 1 Kp°T
i) Why doesn’t »2x argue that

(1) there is no *»1 xp>7 in favor of a1 that *axw 77°7 —and in fact \nm o7p ox
applies also for other yp>m

(2) the xn»2 prefers to teach ann o7p ox for 7pa Hw no1 not because *axw 77°7
but because 2p2 Yw no1 counts as »%°7 >7% and it’s a wY7n for "o " as well
as for 1121 that 7wRa can be Mo

7) R"wamn
a) Nwp to Mmoo

11



1) X231 can answer if the purpose of the xn»92 is to teach that 7mn a7p ax even
for “9>7 >x — why doesn’t the mawn teach this 127 for 112 that also counts as
927 97%) as MooIN points out on .1 A7 at Mo K7 "7

b) v n
i) Mmoo says that ma counts as 7>7 >3 only for 27 and not for »ax

i) And it follows that »ax can argue that there’s no *»1 &p*7 to prove the 7vw of
X2

n' Q7T

nNTEN ‘X 770 77INT X0

X207 °P9m 922 TWAIRD OIn TYOHR 27 °12 V102
1) First an7pn — 82 »2aR7 npYonn — a7

a) "ax says WK can be 12 o to the nxn without any apnnn — when »aw is later
1712 79317 he needs to make a pnan of oonov

b) X217 says PwRY can’t be 112 7m0 — he needs a apnnn of o°now s — when 2w is later
712 99117 he needs to make a further npnan of oonow '

2) Second TP — mwn at ;10 a7

'Y PIp0 XD QTP 12K ORI PXIP ARTR M0 R AR 10 127 10 1R DR R0
VW TIN2 YOI 1 19W TINA 0 ATY IR XY DRTIR MW 0D 9 AR KR 0P

3) Third mnpn — "awnT mwn" at a7
a) 2772 7201 0P M 2PN2ATT M 2T DRI PN R AIWRT DR PPN

4) Fourth mnpn
a) It’s a muw»s that 1275 *pra 9770 — that P2 po1a 3wn - and that *pra XS Xp»
b) the xx0 deals with whether 57n% *pr o> 1127

I'No X7 NI 2T nivoIn A p'7n 7TINT X210

1D PR M1 2YNMATT T''OP RAWMT 23 DY ORI 12 D KD ORI 71''7a [2 Ty 1 nT)
TAPD MWD DY PTA A1 2IN2TT V'S0 TORT WRan dM272 10 whnh mo By
RDWITT DRARNRT "D PIOIT DY 920 V17 Hhon R TR v "o 'R nwpa
BT SN AR 1ARD '0INT WD 1D 2PN R 2VMATIIY RI2R P YRR

'y
1) xvax—xewp of 7% nnown 2o

a) The mwnT mawn is &1 for »ax but is a X°wp to 827 as explained in the following
tables

i) Rm12KR5 XnHwa — 'R RDAw
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129709 P Mt

79 NROWn MaRY — 'R K72

01 M7 12 13217 S —

D77 9¥2T — R7°1 MARY NWRI TA07 2 N127 ¥2 NWRI T 2T YA | 92 o BTN va - a0

10K A0 DWW PN — "R NYW? N2 0 — 7510 noT hrrahh]
phikhlizieNalniini i) I ROV NEP WY AR | R0 2w 1700 DTnn Bva
S¥27T 13277 NOR KN 9707 P o277 QW R} !

ROW NXp Wy o127
bihs

SY2T 077 N7 PAN?

1" MO°R2 A0 P77
ROW nNXP AWy 0127 Hva
01 7 PR 1991 1D
RN RY 1M 9702

WX TA07 27127 Yv2
— >R NYW? N2 0
1N ROW N¥P WY 9aR
9707 P 0277 DWW

NWRI 17777 22 N127 Hva

— 79mn 707

01 1w I 2700 Pva
Riiok il

57M2 PR o '

b) Xwp X277 928 — "2 XYV

"% 1°2 13277 12 P70 P 0037
0y

R277 719 NROWnR % ROWp — "2 kDAY
SMY—

Bo7 avmb 1321 BT Xwp Ra
%2 P72 PN IR0 PR TN

910 N DTNA SY21 0927 Bva
X271 nYWwH 10°KR3

AR 92 PO 9700 A — 1330

Ik Y M BT XWwp Xav
TS APANTT VRN PO TN 907

910 1N DTNA SY21 0927 Bva
X217 NLWH MOK2

579M2 PR o

M2

2) X"wann

a) °"wn as explained by maon holds that the xan3 at this point assumes for both "
>0 and 7121 that 2717 P 0127 because it’s yawn from the x°mo that the
possibility that 57m >pra 8% o>127 arises only in a later xR by R1°a1 before the
X3 brings a xwp of "5%on"

b) The 7%nn of X121 and the x>wp of H2on will be discussed in detail in 5%on 7"7nin
T 5o

N7 NNOwn D' TN A 270 7TINT K20

SXT PO 12 PR WTMNT 90T B9 PO KD V'Y "o 1 nmown 9o 7''Na
990D R DD PIDNT R IINYTIN MNOR RTIADN PIOKR K27 22 9o "2 apnann
SONYTIR PION KD RITT 10 KUY RO DOT 21 TR0 1IRT 7120 PRI IRW P2 0"
POTAN DY M1 9'"h RAWT R'DY YR TIN2 PV T PR TIN2 0w 7T V' T YR

19'"PY PO

1) mmTpa

a) At 177 - X217 says that although *o1 ' agrees with 827 for 112 that pwy- and “1w
each make a npnni °xn — this is only because a &120 of &2 X 22 applies to M2 —
but >ov "1 holds for 7°p°ma other than 712 that neither w2 nor *1w needs to be ponn
because 01 " holds 2w 7102 Y©I1 71 19w 7102 9 A7 and MY DX PORIaR P by

2) X"wamn
a) Xwp

i)  Why does the xwp of 7% nnown *>°17 ask for 821 (as bolded in 'a X72v) that ™
*01> ought to hold that each of the 0>1277 Hva and %777 %v1 is pornn half of the
apnnn — after all the xn12 doesn’t deal with the 1977 of 712 so the 7 of 1
"2 9917 should apply
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b) v
i) It’s only in the final x>wp in this &> that the & na realizes that *01° '3 says a1
2w TIN2 VI N 19W TN 0
I'7'X "7'n 0 T"NA T 27N TN T K20

BaR N7 1WA RPIT WM BoY "D Man 2w Ty Mwpw IR 2" 7''N2
1207 3PS MDY TOD TR ORD PRI INW P2 N3WDD RDWWT ORTY TOnNDD TR0
DUS RDT 72197 7057 TR KD K277 R TN pua o "D [paran] {pran) by o'

'™y T K™Y
1) =wnn of the X

a) xnn Pk of Xoo 11 that explains that — although the 577m77 Hva was 11wxa — he still
counts even for 827 as 7n°72 720 because the 277n7 mawn deals "np1Pa"

i) namely

(1) The %771 was in the middle of a 77w that was owned by the 57777 Yva — the
577n7 %y2 sold part of his 77w and the 977n ended up on the new 13»
between him and the n12 — the np12 was then 1127 7°nvn on the side of
the 1% that belonged to him

(2) The same applies to the 7wn %¥a — the 7wn was in the middle of a 77w
that was owned by the 7winn Sva — the 7wnin 2 sold part of his 77w and
the nown ended up on the new “x» between him and the 12 — the npY?
was then &p* 37711 on the side of the nx» that belonged to him

b) xwp of "on >R" or "2 K"
i)  Why do 1127 say that the 577n7 Sv2 and the 7wnn Sva are ponn
i) Why does >0 " imply that the 79w %2 need to be porn

12 97707 P M7 2977977 R ROWP A K9

01 "% 12 13200 " — RDD

bya by b 0 N °M277 PY21 OpTa 0OMaT 910 97707 Hva — o2 1329
o BTnn TIOR3 A0 TIN2 1791 N2 90N
7Y

NP7 2R 07 N D° 277 YY) P 01T 10 970 Yva — npa 0P

R Dar HTana nnT
R bya by b
P

T0°KR2 10

TWN2 N N ASAn
i)

c) vrrnofxranasin'y k92w

i) X992 is correct that the 9777 mawn deals np172

ii) Both 1137 and >0y " hold that 570 spin X% o>a7

(1) 1321 hold that vaxy nxX p°n1a2 po1an v even if he was an 2 7210 so long as

777X ORI RY 17°70 — as in our case where 97717 *p1n X7 0127

(2) o1 "1 presumably holds that 12y nR p>r77% P oy




377170 0P M1 1327
1277 1777 X1°20

o2

717°n — "7 ’Hav
°577 9K WIPY K127

DR PR P
MY

2Nn°12 710 0°M2TA

philrrisketatel
177w TN 10

5709 P K? e
YA PTAN DY | DR PIAC Ay | Hyaropma R? 0037 571 YY1 — np1a 1127
TWwna YY) 91N ey aN°73 M0 oM Riaty i ipisfaliatate
AX MY DR PR T TIN2 1)
AN’ 70w 0D Y
P RY 277 10D
57>
D772 207 197 O¥79"0 AN? | DY P XD 02T 5771 YY1 — P2 0P "M

2) RWAT wnn

a) xwp of "Yoon"

i) Since apparently it must be that >0 "1 holds that vxy n& P a2 proan v

ii) why for >0y "1 must the 7 wn Hva be ponn
b) y1°n of k172
i) 7127 and >ov " both hold that mxy nx P>raL pona Sy even if 02 9no so long

as >77IR *pIn X7 %110 — they are pn as in 71 X22av because 1321 hold that
57907 %P1 ®Y 227 and o1 " holds that 97 n% P 20127

1777170 01 M1 1330
P10 T "o
AR,

12X °399 701 "1 111
57707 P 0MaT

nP123 XDD 27
X1"277 R1ponh

"I YW T RDAY

P RD DMMATTIND | DR PR A by | P RY RPOM oMAT | Ahnn 720 9770 Yva hib]
P°IAn Y 97N> 7702 129DR MYy N2 70 TIN2 1791 N2
5770 Hva uraT a2 Akt
P17 "wnn Yy 970 7Iwn Yy 1
D DY AR MR DX 1721 NP AN
qn°7a Jhow T N3

MIDMATT VD | DR PO prTen oy TR0 PTA OMAT | A9AN TR0 7R Hva ohtly

Sy b kY P
1% P PoTan
20277 Dy TR

WYL N R

IR — pnnn B

1991 %P1 7T RPY
7wn YA P

9702 170X MY
a2

TeRa
01 T KD Kp
anm

TN 3T N°A2a
e

3) xwvat.m AT

a) Refer again to the mawn at 72 77

Y RD O7P 12K ORY PXIP TRTR 2T OR AR A" 2T 1 1R DR PRNn

b) xwp to xan

i) D7P 122K WK 79 NNown 97 0 RDTOXR

c) 1IN

i) {2 om1 9577 P12 KDD 27 AR

4) mooin

a) Nwp
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(1) Why for 19°x 212 who was an°ma 10 is the 7 that P> X

(2) While 1127 say in "7 X72v that 2771 Sv2 who was 2072 7210 needs to be
PN
b) v n
i) To be yxip an 19°k causes 1217n 7097
5) X"wann
a) Nwp
i) The x7n3 later asks that it can’t be that >0v " holds ¥xy nX P ra ponn v
because if so he wouldn’t say for 12°X that Yow ina yvi n oW 702 o o1

i) why so when there’s a special 17 for 12°X because to be yxp an 19°x results in
72177 7097

b) y1n

1) n21n 7oon is a valid consideration to a w1 who’s 22 210 before there is
a "1 who’s later p1°1 by 1wy — but not if a 19°Kk Svaisn’t a WX who is 7210
an°2 and instead is a0 at the same time as another person — because yu> &7
709> R

DMIATA 7252 N TN D PR TTINT Nlo

"M27% 19 % 12T Doy 12 10D APMATT DD PNNIY 29MATT bya TRy 7''NRa
BT DY 23 'R MR KDY IPANIT 9D PONID 22T DYa PINT PR
S''RT QWM TWPAT A9 WADR 9377 {PO0T AKRT) 13370 {KOW} 2 KDY e
TIAD2 'OINT W'D 1D APIRAY RN 2YT12T DYa TADRS NIYIRWDA B MPIRD &'
AMRY DT 2R AP K92 ITRR IR YR 'R ARRa b RORT 'R R
TTOIRY N2 19M0 RTIN RNWTT 2VATT MIRD ORW IR MRYD 29T 1AM
AR PR IRTIT 927 MWIDD W2 RDT WD WO PRI NN20D PITNTY PO N

TH'TEY 1T AR 7T PRI 19D PN RDA WITRIS 2N TRy

1) Twni of mooin
a) xwp of "RnpPIRY "2 R n1on owm"

i) To answer the xwp of "33 °X" why didn’t the & 13 explain for X55 29 more
simply that &95 29 by 7172 means the "12°3" of 3 X920 — namely that it’s the
0°1277 9v2 who was the 121 who was 2n°72 7210 as in Y 892v

ii) Note that in "' X92v there’s no need to rely on the pm7 that 1327 hold that %y
MXY DR P07 poran even if he was a2 7210 — and note also that 13121 can
agree with >0y ' that 577 *pra 2> 27
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SY3 19 PR R PN
2N°72 TH0w 0™

TIN2 1721 A2 90N
X277 19°OR VITY
5707 9Y2 10 PRY 1
710°K2 707

Sy PRI 270 P o127 Y2 RY 12 MsoIn nowp "R ' RPA
MY DR P72 PR | 792 1R192 XDD 277 MHPIRD
an°72 P07
T0°K2 JA0W 7770 2 PIn M7 TR0 @¥MaT B3 — 2 1127

b) y»n

i) 1It’s correct that ¥ X22v would explain the 7vw of 1121
unanswered why >0 ' is 277n2 °nn

— but it would leave

SY PRI P72 P 02T | M DLW pinn X2 1 XDava "5 T kDAY

MY DR PR P oY
Rlskylytale) !

T10°K2 JA0W P70 Dva privaRatalinki 70 @Y7 bya — N2 bkl
SYa 13 PRY T T TIN2 1721 N2 A9IN
qN°a oW AT X272 190K 177w
MMOR2 A0 P70 Hva

970 9Y2 1737 PrIan oY PIn 0 M1aT prvyialaieloefakinhink vivin} 112
TROW MY DR PRI 1T TIN2 AT T2
Y210 PRY 77 MORA X277 197K

qn°72 TRoT 21T

o1 ' Inn ek Xwp PTA DT 7200 0 01T Hva 0P '
AWK TR KDY DTN 1T TIN2 A1 T2
Pom D7nn Yya X277 195K

2) X"wamn
a) PN

i) Return to "7 X72v that sets out the yy°n of x99 21 as explained by x1an

17170 01 M 1330
P1n By 9o

R 92D 501 M 111
57107 pm N7

P92 X959 27
X277 RIPONA?

"W VWS 1 RDAY

raimir
PRI R? DMATT D | DR PINTR PR DY | PTA RD RPI OOMAT | 79nn 700 970 Yva 1
P 9y 97 M0 199DR MYy N’ 770 TIN2 1791 N2
5770 va Wt AN T
PR TWwan Yy TR0 TWwn Sy
D DY R MRV DR 13721 N2 390N
qn°ma Jhow 177w TN
MIDMATT M | DR PR Pt By el IkirivaNakinlink B B i To u 2o Rvk misfivliial 07 "

Sy b kY P
1= PR PrIan
2%MaT7 by TR

mwyb N R

IR — pnnn B

1991 921 K27 ®p
W Hva pnn

9702 170X MY

ancaa

7101 P R KpP°

7MO°X2

o

N2 1T N°A2

Y

b) xwp

i) For >or "y why didn’t mooin explain more simply as in 'n X72v that because "
>0y holds that o>127 and 717 are >777R *pra neither needs to be p°nnn — why
did moon need to go further and say that for >0y "1 the 2°1277 Y¥2 needs to be
rmla
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177170 01 M1 1330
PTan oyT 9"
1>

R 229 %01 M 1121
579 P M7

WIDn RS b XOwp
7795 DD 277 MDOIN
01 'Y

"1 N ' RLA

SYa107 P By
wna a1 v7n
ax VARV DX PO
N’ 70w 0D Y

DR P17 poIan oy
ey

IR KD KPP 22T
Rikmiarale)

7970 710 970 Hva
N2 1701 N2
T

1327

M1 DN2TT D
LY M X% P
1991 PR PoTen

TR TN

DR P19 PoIan Yy
MRy

07 P oMt
MoK

TR0 P KD Kp
A

7710 770 970 Yva
TIN2 131791 NP2
Axi

0P '

IRV — PROTR
1991 9P K97 RPY
7Iwn A o

ii) After all in '} X%2v the xn3 held that it was enough for »ax to explain the nvw
of »01° "1 by saying that o "1 holds that neither needs to be °r — so a y1°n
by x99 21 for X217 on the 7v*w of *o1° " ought to be enough if it explains why "
>0 holds that neither needs to be pnqn

C) y™n

i) Ifit’s correct that °01° " holds that if nwkn is an°2 90 then *1w who’s 7m0
oK1 needs to be o — then we understand as explained in 't 52w that the
977n7 mwn can’t deal with the 719°77 case in 'Y X922 (to teach that where the 5va
07127 was PwXY who was n°i2 0 — the 9777 Hv2 is *1w who’s M0°R2a 7210
needs to be poran) — because °01° " in the mawn is H77m2 7°ni and says the Hva
57707 isn’t pon

ii) but if we were to say that >0y "7 holds that if nwxA is an°n2 90 then *1w who’s
T10°K2 720 doesn’t need to be pomam —it’s a X°wp why the 57777 7awn can’t
deal with the 79°11 case in "1 X72v (to teach that where the o>12a7 Hva was WA
who was 072 7m0 and the 57m5 Hv2 is "1w who’s M10°R2 7210 then neither
needs to be pmran) — since this 7% would fit with >0y "y who is 97972 2°nn
and says the 57717 Hva isn’t ponn

3) Twnaof X"waan
a) Nwp

i) Why doesn’t maoin explain for xo5 21 that the 7awn7 mawn deals as in 'v X520
with a 121 who was an°n2 7210 both 97917 and o°7127 in the middle of his 77w —
he sold the part of the 77w with the 5771 and either kept the part with o127 or
sold the part with o>2127 to a second 17

(1) And 1121 hold that 5791 >pra &% 2°1127 and that’s why the %777 Sva must
be P even though the 97n was 202 7101

(2) While »ov "1 holds 970% *pra o>1127 — and where two 277 are >77a8 P
neither needs to be p°ran consistent with the v w of the nwpn of >>°n
77 Nown in 'R X9
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5"D 177°°170 %01 M 111
198 120X P a2 P21 9vT
qn°7a 7m0

19X 2359 90 M 1127
5709 P ovM1aT

"R ' kDAY

570 DY 1707 potan oy 5709 %P1 X7 02T 9h0 22T 9770 va 11
D DY AR MRV DX P 137791 N2 oW 9nn
22277 110 N2 TR0w X277 19°9R 177w TIN2
579 P R?
1991 577X PR N 5707 P 0MaT 970 AT 970 Yva 0"

TR PR TN

13791 N2 oW 90N

X277 70K 7w N2

i) And since the 7117 mawn deals with where both were 2n°72 qon1 there is no
"7195" 9% and it’s not a X°wp why mson doesn’t apply an 71977 19

b) v n

i) It’s not 1anon that a 121 maintained in his 77w both %771 and o127 that are
P12 one another

DN X T'NA ' P'7N 7TINT N0

23 M2 1D AN WA NOWRIR 10D PN IR WIDR "D RPEDY RR 7K 7N
DY JOPIARKRY DT 291272 29D 7 2WRT MmY X2WT 2oy 1o M2 IR
YA KD RADA TIT PO 7R 32 PRY IR PRI D0 W R 2vaTn
PO Y2 RY DT HYaT W7 D72 00n 91 nRPT KUK 91 M7 onbnn
1" P PN TR Y2 YDA RDT PN 7R JOPINWRY 21T 90 XNBR 17 0"NY

1) mmTpa
a) Return to » X72v that summarizes the x>wp of "571 X" to x99 20

129707 P 0T

297797 R ROWP A R

01 "9 172 11270 " — XD

bya by b 0n N °M277 YY1 OpTa 0OMaT 90 97707 Hva — npoa 1329
o BTnn TIOR3 A0 TIN2 1791 N2 90N
T

NP7 2R 07 N D° 277 YY) P 01T 10 970 Yva — npa 0P

P baR H7ana vnnT IO°R2 A0 TIN2 13791 IN°a 0N
R bya by b Ay
P
2) R"wann
a) Nwp

i) Why doesn’t the X3 answer that
(1) sor "1 is 7°nn both 977n2 and 7wna

(2) And the reason >ov " says only ">77m2 2°nn" is that his main purpose is to
teach by P17 from 577m2 a°nn that the o277 Hva is P — and since it’s a
muws that the Xp1°17 Hva isn’t P> there’s no need for *ov ' to say nn
7wna to teach by pr7a 7 for P
b) v n

i) We established in 71 % that it’s not readily derivable from the words of *01° "1
that he holds that the >277 ¥a needs to be >nn — so the main purpose of "
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>0 must be to teach that the 2771 Hv2 isn’t P>n — it follows that it’s a X>wp
why >0v "1 doesn’t teach that the 7w a2 isn’t porn

nNTPA — 7700 2" T nivoIn 't 7n 7TINT X110

1) First nn7pn — consider again the xowp of 7% nnown °>°71 at the beginning of the x°x10 as
explained by mooiwn for >"wn

a) The 7m7 mawn is &mo1 for »»ax but is a x°wp to k21 as explained in the following
tables

i) RTIIRG RPHW — 'R ROV

12 9709 P M7

79 NROWn *7aRY — 'R K720

01 M7 12 13217 ek

57717 9Y2T — X1 "Ry WX TA07 27127 Yva NWRI 177 2 N2T 9Ya | 90 PP D7 Bva — 110

T10°K2 JA0T DWR PN — 2R NVWY N’ 0 — 71970 o7 apnnn
An°Ta R0 227 Yy I ROV NZP WY DAR | R0 1w 1700 DTnn Bva
©¥27 13277 NOR RN 9707 P o277 QW M0°K2

X9 NXp WY o*NaT
1D

SY2T DATT K1 MARY
n"n MO°R2 A0 YT
XOW NXp AWy 02T Hva
DY " NM 1971 D

TR 7207 0¥ N7 H¥a
— "R NYWY N2 790
12 ROW N¥p AWy DaR
9707 P o277 QW

TR NPT 20127 Hva

— 71970 0T

A0 21w R 970 D2
T0°K2

579M2 PR o

RN RY 1M 9702

i) Xwp 827% %28 — "2 89w

' 12713277 P2 97D P 0NAT | K22 A7 Down v ROWp — 2 XD
0 M-

210 31N D7NA DY) 92T Hva P 92 PO D700 Hva — a0
X297 LYY NORA

270 17770 27707 YY) o127 Yva
X217 nLWH MoK

BT "M 1320 BT RWwp N2
12 7D PRI NN PN AN
oD %Y ' BT Xwp 2D
97D TIPANT IR PR TN BT
T2

5712 PR o

2) Second 7P
a) Return to '7 X72v that sets out the y171°n by X102 for x99 21 to the X°wp of *5771 °XR

17170 %01 M1 1337 npa 717N — "7 X920
0°M277 1779 X720 X" WIPY RPITT
5719 P R? " — "o
SYITT paa Y | DR ponaac potan By 5y21°pTa KD 2027 5771 YY1 — np1a 1
7w YY1 97N AlaX'sY qn°72 9P0 2 N1ATA Rliakhvisi i)
ax VXY IR PO WITW N2 1IN
N2 JRow 0 Y
PTA R? DT
571>
57712 R 197 Sy75"0 7RO Sy opma XD 0N1aT 577 Sy — npYha 07 "
DR P17 PrIn an°72 o oAt pisknirbisialalels]
MY 177w TIN2 1IN

3) Third an7pi

a) Finally return to the x°wp of 9%on that the x7m3 asks to &99 21 and to the y11°n to
this xowp

i) Since apparently it must be that >0 "1 holds that vxy nk P a2 proas v
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b)

ii) why for >0y "1 must the 7 wn Hva be P> if "o ' holds that °r13% proan oy
MYV DX

71700 of X129

i) 71127 and >ov " both hold that mxy nx P>ra% pona Sy even if 02 1m0 so long
as >777X P X2 1770 — they are p7nn as in 17 X72v because 1321 hold that
| an oldas tha |
57m% “pra XY 22127 and o1 " holds that 577r% *p1 o2t

177°70 01 M A
PTan oyT 9"
1>

19X °399 %01 "1 131
579 P M7

P92 X959 27
X1'297 KIpOn?

"W NewY 7 RPA0

P KD 27T 1D
P°TAn 9y 97N>
5770 Hva uraT

PR 7Wwan Yy

°D DY AKX M¥Y DX
qn°ma JHow

DR P°1a% poIan oy
9702 170K MY
A

PIN KY KPP 22T
Rikymiarate)

7970 910 970 Hva
TIN2 1791 N2
Akt

970 TR Yy
13721 N2 390N
177w I3

1327

M1 DMATT

DY M7 R P
1991 P P
2> M277 Hya T

DR P17 poIan oy
9702 120K XY
A

701 *pTy oAt
To°Ka
01 T KD Kp
anm

7970 910 970 Hva
TIN2 170 N2
W7

B

50 MWY? W XITw

1991 %P1 7T XY

IR — PR

W HYa pnan

4) Note that

a)

b)

d)

the nwpn of 7% nnown *>°17 understands the nww of »ax for o1 " without having to
assume that >0 "1 holds that vy nx Pn77% prin by

and

i) it’s only after X1°27 answered the &wp of "7 °R" as explained by &1°27 for 21
X0 in "7 X72v by saying that

(1) the %7 n7 mawn deals with a nP12 who was an°na aonn 7210
(2) both 1127 and >ov " hold that 7717 pra 8% 01127

(3) and 7121 say that 2y nX P07 P>t Sy even after he was an°na 7210 so
long as >77a% *pra XY 1N

il) that the nwpn of H2on follows with his xwp that since *o1 " presumably holds
that mxy nx Prn? praa 5y why is it that the 7wnia Hva needs to be porn

in short there’s no reason to assume that the wpn of 7% nnown °2°7 isn’t the same
person as the awpn of 991

and this also explains why &"w=nn in 'a pon said for >"wA that the nwpn of 21
77 nmown didn’t realize that there can be a mw w that 27n% *p1n XS 2°127 until the
v17°n of X127 for x99 27 of the Xowp of "o °R"

2'On A" T nivoiIn 'n 7n 71N T X210

RITT NS 57T PR DD 15 DT TN PRI TR 51RY 119 9" 9207 Yoon 1''7a
920 SIW TWREY VWY NUOWY 1A 55772 SHDT N30 TWRAT TWIATT MY RSN
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PAWPRT AWT MORD 12 N7 ROR '0INT 1@ANOW D 5772 1W9DNT 9D X120 PNT
TR KD 2IMATT RIPDAT YT PWRIT TRPAIT MWD RDINT 190 RN2D 72 0D

27 a0
1) nn7pn —avw of mooin in this X210 based on 1" and an 12’29

a) the x>wp of 7% nmown >2°n for the xonx M7 of mpon is the same as for the v w of
M"w7in 'R RP2v and 2 R9av

i) RTIIRT RPHW — 'R X9V
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i) Rwp R27% Har — "2 XS

"% 1°2 713279 12 970 OpTa N7
0

R277 719 NNOWnR 271 ROWp — "2 kDAY
My—

97 W2 1321 9T XOwp R
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b) The nvw of xoo 27 and the xwp of °377 °X to X9 27 is the same as the nv>w of »"wn
in '3 X9y except (as indicated in bold) that the x>wp of "33 °k" implies also the
Xowp of "R mp1on 270 P Raw oxn'" that’s discussed in "7 P91 — because the &3

doesn’t accept the y11°n of mooIn in 7 pon for >"wA that *axw 7217 7057

12 97707 P M7
01 "% 172 11270

R RWP (AMwa) 3 k9
NWIWS— XD 215 37

nsoIN

5707 9Y2 9y 02 00 R °M277 YY1 OpTa 0OMaT 90 97707 Hva — npoa 1
nPIoR RIW ORR — P IO°R2 A0 TIN2 11721 N2 A0AN
o W7
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c) For the yy°n of X129

i) 1" and an 27 are 0713 "R°27 MR KPR — meaning that X1°11 doesn’t agree
with x99 27 that the 77 mawn deals with 1

ii) instead x1°27 explains as in " x>2v that

(1) except in the case of ™12 n7°d1 which isn’t relevant to the 7IwnT 7awn — X237
agrees with »ax that a 7wk can be 7m0 because "mgy nR P rnL poran Ky
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— meaning that a person needs to be »°r7» only if he’s a *3w who’s P12 a
P1°1 who was mo previously

01" 7 1°2 13277 172 0PI 0T X271 YWY X127 717N — Y RDAY

mooIne

227 S¥2 A"n P 01277 oA 9207 "R NPT MAT OV | PRI 92 PO DTN Bva — 1120
NYWH X279 WIBR 0’72 A0 —onn
MRV DR 20772 POTAR DYT MooIn MMORA A0 W 1P DTN Dva

d) the & na then asks that "5%on" that >0 ' is 977m2 7°nin presumably because he
holds that 1%y R P13 Proan 5y — then "n1 Rp" 77wn 170K 2377 R

e) And the yr7°n of k127 follows as in '&> X72v that "oy ' actually holds that %y"
"Xy DR P a7 poran the same as 1321 for whom "poma" means »aw and 11wxA can be
7m0 — still »ov "1 holds that 0>71277 9v2 who was 1w was still 12972 Xow nxp nww
because 771 >pra 0>7127 — while 1327 say the o°11277 Sv2 was 1372 nww because
57717 %Pt RY 02T

19X 2359 90 M 1127 an 1M "o RI°277 RIPOA 'R XD

9707 P 02T moaoIn NYWH

TR0 D7 HYAT 1AM | ORI 710 P7mn Hva NWRI 177 N7 YA | 95 pAnn 970 Pya — a0

PIA RD 0127 o°KR2 137721 N2 9NN JR0T el
kanliv; 5707 P K2 2277

NZP AWY 0°MAT PV | 0K MW a0 97nn Hva TR %P7 227 Y2 57712 °nn 0P
N7 1991 1370 RO 7wy 9aR 02 7900 907
SY2 19 PRY 1 — P7ma 2ON2TT A2 RO NP
1991 1270 WYY P ST P

7Iwnn YYa pomn

i) Note for the nvw of 'x> X%2v that — although for *o1 "1 the 17 is based on the
W0 XPw »wy of the 112777 Hv2 — 1327 don’t deal with 170 XYW »wy at all
since they hold that 279n% *pra 8% 01127 so that the o277 Y¥a was 2 e

2) moon as explained by x"wann
a) Nwp
i) If the nwpn of %901 is the same person as the nwpn of 7% nnown %0

ii) why does the nwpn of o1 assume mywa that "oy " as explained by X121 in
"> X720 holds that 2y nX P177% proan %y when

(1) the same awpn for 7% nnown °3°17 assumed in 'k X22v that both 1127 and ™
>0y agree that the o>1277 %v2 although he was a w2 who was 2072 10
still 12972 ®5w nxp nwy because 9777 “pra 2127 and the np1onn of 13121 and
>0 M is that 7121 take no account of the 1375 X%w nxp nwyn while *017 '
does take account of 131770 XYW n¥p WY

(2) And the nwpn ought to realize that X121 can take the similar 7%7n in X52v
'2> without saying that >o1 "1 holds that ¥y nX a5 pran oy
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b) yn

i) Must be for the nv>w of n" and on 1021 that the nwpn of 5%o1 isn’t the same
person as the nwpn of 7% nnown *>°n

3) Twnn of maoin

a) Since it’s anyway necessary for "1 and an 11°27 to say that the nwpn of 9%on isn’t
the same person as the wpn of 7% nnown *>°n it’s "anon that the nwpn of >0
72 nrown held that 13127 and >o1 ' were p21n as in 'R° 822w not as in 'k X72av

4) R"wImn
a) Nwp

i)  Why does maoin think that it’s 2anon that the swpn of 7% nnown *5°1 — follows
'"R> X2 that the npy»nn of 13121 and o1 ' is whether 5707 spa 2>1127 — and
doesn’t accept the muv>w of >"w1 in 'R X72v that the np17nn of 1327 and ov " is
whether it matters that WX was 3172 RPw D3P v

ii) After all — to explain the difference between the nwpn of 7% nnown °>°17 and the
nwpn of 9901 it’s enough to say that

(1) The nwpn of 7% nnown *>°17 follows for »ax the v w of >"wn in 'k X72v that
1127 and >0 ' agree that 57717 *p1 o127 and the npyonn of 13127 and o '
is whether it matters that wR2 was 1372 XYW nxp v

(2) While the nwpn of 9%on disagrees and says the np1omn is whether po1ian v
XY DR P77 O MEY DR PORIAR PIoIT oY

b) y»n

i) oo prefers to say that the nwpn of 7% nnown 3717 follows the xapon of the
X723 that 7327 and >ov ' are P2 on whether 97709 spra oo 27

'ol' 'Y 7201 A" T nIvoIn 'u P7n 7TINT X0

"D TR APWR IOR Y PR PITR PRI TN R By 0 By 9" M2y ' T2
BT AIPNIDD MAPIRD TR IRTY MBY PR PO DY 'R ponT RnD 'y
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TIWRT DTN APPR PR AP P2 HDaT oY T9INRR 1290 9 RWR I K™Y
SPYAT 91 DD 27195572 95 931957 19 TIMLIONR KY 20 119271 7' nuowd bar iy
SR IIPI92 IR 799 197D N7 95772 A095% KD A1 AN 192 11'' nuwd as npiea b
SR2D 1N NEMD WA RIPOAD FINTI TIVY M2 IPIND RIT W'AT BT 12297 RRpw
1R 3" 3908 KRBT 2" ORI WD 2IMATY DT KON 1D 157979 KON ' aRpT

TPITY TR IROR P2 PR 1R TIURONY IPYPa KON

1) mooin as explained by R"wann part 1

2)

3)

4)

a)

b)

c)

Return to 'a p%n where mooin established that >"wn needs to rely for x99 21 on the
pm7 of 2w 7091 to explain why 977m7 Hva who np172 was Tn°i2 7210 needs to be
P 7 while for 19°x 1 the 17 0s 7> X9

Note that

i) After X127 explains for xoo 21 that 3327 hold "vaxy n& P rn ponna Hv" even if
he was “n°m2 gm0

i) The nwpn of 5201 asks only why o1 "1 requires the mawnn va to be prn —
but accepts that 13127 hold that the 5777 %92 needs to be P rn

It follows that the 73 needs to rely on the pm7 of 7217n 7057 also for X122

mooin as explained by x"w-nn part 2

a)

For "1 and on 11727 the X713 never accepts this pm7 since as explained in the prior
Pon

i) as part of the x>wp of "33 °Kk" to X9 27 for 1327 the X3 in effect asks Xiw xn"
"R PN

i) X127 disagrees with the fw w of xoo 21 altogether

xipon of the x°x10

DT°I279) PO RY R Bra WwieR 7T Y R0 prIn Hy o M ohwh

D27 D707 CWRON MARY DR PR PR DY INNKRT 197070 INRP 13277
57917 %P1 KD 21277 19 RI920T POWA 1127 — TR P

Tqwnan of X"wann

a)

b)

We established for >"wA that "y nx pon1a2 Poman 3" means that a °1m must be
P11 even if he was 2012 210 so long as 7738 *pra &7 1110 — for example in
the case of npY? as set out by xoo 21 for the nw>w that 577n% *pria X2 127

It follows that '»> 892w sets out for >"wA the 7w of 137°72 by "o '
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c) Namely that

i) oy " himself holds that 12y nR p°177% P17 5y — and it’s not relevant whether

o°127 are *pin because no p 1 ever needs to be P — including the %va
57n77 and the wnn Hva

ii) the 7wn7 mwn deals npyoa per the 7w w of k99 27 — 01 " assumes that 1121

say the 977177 Hva must be > because 1327 say N2 WXV DR P02 PUTAn DY
which for *"wa means that — so long as w1 and 1w aren’t *771% P11 the PwWRA
needs to be P ran even though he was an°a 90

iii) And >0 "

(1) argues that 13127 shouldn’t require 7pn7n because °o01° " assumes that 7327
hold that 977> *pra @127 — so that >777R P2 17°°170

(2) but accepts that 3121 require npnna for 7wn because &pa aren’t P

d) It follows that *"w= needs to rely on the pm7 of “3xw 12171 70577 to explain how "
>0y understands why the v w of 1127 for 7wn is different from 12°x np1?> where the

TS 77 R

5) Twnn of X"wmn part 2

a) But for the x3pon that 13121 hold that 979n% spin &% 2>1a7 and *01 "1 holds that %ya
7wn isn’t P the same as 57m Hva it follows for the nusw of »"wn that "1 X720

sets out the npYonn of 13127 and >0 "

57907 P R? 091277 177 DX 1320

R2HR "W nYwH RIpon— "7 X7
X277

MMORA TA0T QWA PR DT Y2
TA07 DWR PR KD D127 YYD
P17 X9 77 N3

PTA RY 01277 7900 770 T n"1 R
12 M0°R2 7210 971 HYa X2
W RITWI P2 PWRI RIIWD

PN 92 AR 970 Yy — 1137

W 1991 XY DR PR P
21 RS PO

n"1 X2 0N 797N 720 M A0 XpPDI XY
57907 P NAT R

5712 PR o

b) And there’s no longer the need even for >"w- to say the >7n7 mawn deals 122
where the 577117 %va was 1210 7m0 and to rely on the pry7 of »axw 7217 7097
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VP ORAR I IOV VYRR IORT MR TITD 19WRR MINT R0 7 2R D"V KON
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P
1) mnpn

N°2 922w — 07°1°2 7OV IMD NPM N QW PRY N°27 T N ow W n°a
DIV NYPIA 2R NRMIDY TN

2) X

129K P77 ROIK IR — 11272 LY IR POP0 DRMAW AR RID°P 72 920 " R
P27 2R D Hoan RDT Y OTRT 72V ROV RY NRP ROV XY — N1 7y
12 vawn P D710 99102 ROKR OIRDRT

1772 2020 KD TIIRDDT 23 DY AR SUYANT 2O2WYY MDIPT RN020 WP
3) mooin as explained by x"wann
a) To understand why the X1 asks "vyn 89 n1 72y 12°0K" — presumably

i) The x7mx assumes that it’s 7anon that p°p1 isn’t 1212 vynn because of two
o3 — ">nan b2 X" - first popa is 71995 vy 71— and popa isn’t Svan — while
for 72y the o7 of 19°% vwn 91 doesn’t apply

ii) and the &3 asks that although for 72y there isn’t °nan still Sxww should have
said that Y9 ex for 72y the 7 is that vynn X

4) R"wan
a) Nwp

i) Since for 72y there is no °nan to support not being vynn — maybe in fact Hxnw
holds that 72y is vynn — with the result that there is no X°wp to Pxmw from the
Nigkiminl

b) Possible y1°n — It’s the 8=ma that on its own assumes that because 72y isn’t 2010
the 17 ought to be that vynn "R

C) X570 — the possible y17°n is a pm7 and besides from >"wA it’s ynwn that the X
asks its Xwp to Pxmnmw
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5)

Twnn of X"wnn — A different 7%:n to explain mpoin
a) Mmoo means to say that

i) the x7ma realized from the start that "519°% "2 77" doesn’t count as a o3 at
all —and even the q17°¢ of %19°% "Wy 27 and 15va &S has no more force than x5
17v2 alone

ii) and asks that in order to make this clear >x1w ought to have said that vy»> X?
applies 12°ox for may

DT
NoIA X'A 2"TN 2 P70 NV NNIS [I7NT XAIO

"1 PPRRIT ANPT K27 92 PorT 9D anIeT X207 DA 10 79 X7 "7 [N 7MY 2 7]
R77 9257 192010 PRT 2017 DINWI2 W27 NI AN w7 D mvN noona By
QORI RITT K20 ONRT UTD NIDT IR K277 'OINT 2T B'OY NNam 7D 2PN RN
K97 2ore X277 "SI0 NWMD B'EY b ame R YRRE MR jana anp
BT 1IN0 AR TPYDIND DAR P2 w2 KD D57 PANIDT ROYT 2952 RDN 057 J1ARP

1)

2)

3)
4)

5)

29! ™y Hyva spa
prlakrh
a) wvwn refers to a reduction in the opening of a N1 by objects placed in the 17%m
b) nxxn refers to objects that are completely ano the 1on
TIwn in M%AR noon

721271 9010 YoRW 22 PRIN NONA DO ML IR DM 1an ARR a0
TEXIT PR IRD ORY PR 1A%Y 102 TN

X773 — the mawn deals with 7an and maa that are owan

mosoin
TUYAN XXM
1770127 KT 701N X7 017 773 J1RW 0°93
701 KPT 1PuIER JOR2 19BN Rl

a) 77R2? — since the mawn in MR uses the word "yxxin” the mawn deals with nai
that are 7m0 the 1o

b) Now

i) If poo were to count as ©an1 2> that are 1xxn even if not Sv1an the R
wouldn’t have said that the 71wn in n17ax for 19w deals with 1P5vIan

ii) So it must be that 1251 don’t count as 0717 °23 and require w2 even for nxoxn
X"w1n
a) w"in mYnx noon takes a different approach
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i) 7120w are the same as 071 °%5 and don’t require 2102 if they are yxn and are
ano the Non

ii) although the mawn refers to "nxxn" that needs no w0 the mawn must actually
mean "puynn" since part of the 1on is taken up by the 7937 and n>an that hold
the jan and the a1 — and for w1y n even oan *92 need 72

TIVI T"N2 NI9OIN "2 770 DLV NNIS [I7NT X'AIO

Bop "3 P2 a2 KD "D IRMIW DA WINW A1 PV WST 27 MR TN 7''N2
b5 AMD WR DAR 2W TIRRT RN 2T MR WD NS DD anva R NN
"OINT 2ND INDRA PIAD PRI M2T YA UBR RITT D102 SyaY PRIN WOR nnon

IP'1ITY SINRY BaRR MINW 9D DY R 9D RITR J00 K17 31299 B0 WINT S

1) mooin —mww of w'

a) nmb "MWy Yy oo isn’t AL 2apn and as a result doesn’t need P12 to be v192 yxn
i ahlunt

2) X"wann
a) nnTP See PRI "7 MdoIn at v a7

i) 71127 hold that a *%5 such as a n>7 that’s 72w (a 725 °22) by 77v7 by another
"3 (the nynn °23) such as a nnon — isn’t y¥In if the 7nyna *%5 isn’t Hv1an —
and it doesn’t matter that the 7nvn7 >3 isn’t AR YN

b) xwptow™

i) it ought to be a 10w %5 that a 72797 °22 that’s not 2012 shouldn’t be yxin even if
it isn’t IRMAI Hapn

c) y™n

i) w"y means that no 212 is needed for nx s where there is 17917 %5 ni>no — 1320
refer to v1w°» where there is no 1 no of Nonn 9

NN A"Th T 7N N90 NNIO |I7NT X'2AIO

TIRTI PRW R0 NN NIDSRY 1D Nvan R PIn MYI2 MAMATR N2 nvana a''Ta
15257 9092 PRI 17X DY 71 MR WYDY RDYDT N1 Do "5 NPT B
IR PRI RYT ITT MV N2 909D 17X DY PYALR 198 N2Y 1DY 12 1 nanw
YITan TNI0SY NYAMT YIDIT TAI FTUAY NIRRPYNNY STOYRAY NIUDI2 NINANT 1R Dawn
DY 9D KD AWDN IR 1T DY 1731 NI IR NINANA FINDR N0AT ANRT TR TN
TONX T RD 2R MITIIDR KDY 7Y NIPRITHA NIDINT TIBRT T2 MR AN NP 1R
KDY MIDINT PRARR NINANT N2 PUDR WITID PIITHY WNIDY SIIRT RI2T0 an 1A
WHD® Y% RO 1T DY M1 DAY AR 30 NPTR AR 2"V 997 IRDAT 00 MTIER
125Y INAD FAIDY TAR TN PN WD KDY NP YRR MIND T 1YY nvann 1T
199777 2% 7ORIDY NONRR KDWY 1D DT TR ININ ROR 17X DY 730 R KD ARpT
(P°2m) PRY NUaRT 7D NEW abynb MR MERIR NPT NIMANTY TR nha2
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WY TEURAYRA AAD NN NIODR 157 KDY MDD 1T NITIIDR2 DA 1hY BINn [n0an]
TPy 37 R
1) mwn in m>aR noon

a) a nran of maa placed in a n%n blocks the passage of nxmw if the mnama could
have stood on their own without the n»an

2) X
a) Nwp
i) why isn’t the noan itself yxin
b) v

i) the n°am is made of nonn that’s 8w 22pn even when 2% &m1o and is pointed
towards the nn ow PR n°2

i) And a 127 that’s 782w %2pn can’t be yxIn against axmw
3) mooin
a) Nwp
i) For nann °% the 17 applies that 5%m5 X137 597 290

ii) It follows that the n°an becomes RV MR 2R because Ny 12 Wow N2 is 2°Rn
over one end of the n°an — and that the n» ow PRW n°a is °nxn over the other
end of the n°an and is xnwn the o°%3 in that n»a

iii) So what do the nx1x accomplish by n°no of the 17%n
b) y1n by aonran
i) "% IR MI0MY 1°N12°20 73 NP2 R PIN M2 NN
ii) Here’s proof that "1’m2°20" is covered with nxaa
(1) Why does the mawn refer to mnaaa instead of other mas

(2) Must be that it’s because m1a173 can be made mo177 and once they’re
mo17 they become mi127 and don’t fall off the outside of the n»an

iii) A xan3 in naw noon makes a similar P17
4) R"wamn
a) PN
i) 7K%Y this is what on 11°217 means
(1) the top of the n°an is open and is "n>an7 xma"

(2) the nnam is lying on its side so that 12% &m0 means that the opening is in
the nn ow R n°2 at a right angle to the floor of the n>2

(3) when an 11727 says nmaa are 'm2*20 %5 nvan o moon he means that the
M3 jut out of the n>an parallel to the floor of the n°a and in the direction
of the top of the n°an — and then fold over backwards (again parallel to the
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floor of the n°2) and in the direction of the bottom of the n°an to cover the
portion of the wall that’s exposed to the ceiling of the nn ow Pxw na —
with the result that the n°2 isn’t 2>n%n on any exposed part of the nonn of
the n°an

il) But there are two nvwp to this approach
(1) First
(@) It’s not nanon that mnx1na cover not only the rim but also the portion of
the walls of the n°an near the rim that enter the n» ow PR N2
(2) Second

(@) Since the n°ar is laying on its side — if the m1x173 weren’t mo1T
certainly some would have rolled out of the n°an and the 7w couldn’t
have said that the n°ar is 82 N3

(b) so why does maoin need to prove from naw noon that the maxna are
moIT
b) v n
i) This is what on 11°27 means

(1) The nran stands upright on its bottom — still the concept of 22% &m0 applies
because xmo refers to a part of the top of the n°an that’s open and the
standing n°an is located so that this x50 is in the n» aw PRw n°2

(2) the rim of the xmo is covered with M=) that are np127 to the rim
i) Note that since the n°ar stands on its bottom

(1) the 71pn of the n*2 isn’t 9°nxn on the upright walls of the n»an and no
M) are needed to be oon the walls

(2) m3a wouldn’t have fallen out of the n°an even if they weren’t mo17 —a
and this is why on 12°27 needs to prove from naw non that the nmxna are
mo1nT

[n"2'8n 179w "D 27N N9D0 NNID [I7NT X'AIO

ROIRT 7' 9" o 10 2OWAT PRI KDY IRV KD IR 11D 5790 TTORORR 1w 772
W7 DY mbRa PRINT CINP RO TRIN KDY X0aAn KD a7 InpT nhnn MwpRy
19'"'™Y 3APDTD NAPIINDNR 92 aNTT T RAPIND

" awpn TN T 270 NDV NNIO [I7NT X'AIO

"D AN TV TR IPPD 11D TaRIR NIam "I M Jva RY "D ' e 7''Na
NU2779 K92 DIIN2 PRIND 9R MR1 2NTT PR NWIP IDD WINDH RDYDT IR Doy
KRR 779D MM ANT OPAT D YRR BNAT P52 2N DY MR 2pnd IR
DR FIDUT VYANIYA AR ROADT NIRRT VAR U0 WD J0 ANT 2P 2 12 INRS
RRIM2 AR 572 PROW ;71T KON 71972 9027 ARP K97 7199 PN 798 KU1 1Twna
B''9 HaR ROITT NIAMR 0 ROWP ORMDY ININ AR MRP KD 2R TAN0R nvana
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ST 190 ANTTS RITT T IRTAT XUK 2R '0INT 19D 9N TOMXA AN MR IRTIT
TR 1" Y9 R 2w 77D SMIANT TIAYD D129 RPW ap1T anwT A ani mavn
RD 1719 K927 M1 5190 MEUR QYRR PRI Y277 DN NXIRTA RO mnh 3B
DY TINYD DO DV PAT WD TR P2 PRAD WIT PN DY 2R TIRyh 9o
IR IRD 2RY R''7 NDYA0 K92 A2 TIPS B PRY 07N 2" IR nxnan

RTITYRY DY TR N MR TR PRI
1) First nnTpn

N°2 522w — 077°1°2 79V MO NPM N QW PRY N°27 T N ow W Nl
DAY NYPIA IR IRMIOY TR

7721271 1702 19RW 92 PRIV N2 1PRINAT MIXAIA AR NP2 120 ARDn 70p
XX PR IN? ORI PERNT XY 2192 TWAY? MIAA 12N

2) Second nnTpi

a) a°?>inan nna 2N is 1naw an Yy en if it has a 2no Ty
3) Third fnpn —

a) mwn in 0°%3 noon

DOTTNT A AW TY AT APRpD MK 0°NW TINN0Y AP NN

b) nwoIn in Xnp X232 — the mawn deals with 7502w on Hv 7730 where there is 0o 7onx
4) mooin here

a) Nwp

1)  Why isn’t m= " needed in the X973 here for fx°xn by ma2173 and 120 based on
the 17 of @°%5 noon that "o>77%:7 172 mRw 7V AR PP

b) v

i) the mwn in o°%3 involves nownaw an 5y 7530 — the X3 here deals with nxoxn
OnR

5) X"wann
a) First xwp

i) Throughout our ®>0 the X n3 says that all that’s necessary for 2% nx>¢r is to
be niov nMo V¥R so obviously there can be o*ap1

b) Second xwp
i) Inthe mawn why is o nw nano enough for 2ax nyxn without M
¢) Third xwp

i)  Why does mooin ask its &°wp to the & nx here from 7712 PP where ma
isn’t needed instead of supporting our & nx from o »w mnno where M isn’t
needed

d) yrrn
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1) Mmoo in its xowp

(1) realized that the mawn in 0°%5 deals with 1212w an v a%%7 where it’s
necessary to be o°ap1 amo — and assumed that o°3p1 aren’t relevant for
5ar nxoxn — this answers the first xowp

(2) assumed that m=°n is needed for 771 not for o°ap1 n»°no but in order that
"ampna 790 Tyn" and that Mmooy isn’t needed for o nw because o nw will
79> o also without mn — this answers the second xowp

(3) asks that just as m» is needed for 2vn2aw 77 %¥ 797 So that the 771 be
79> TnYn — in the same way there ought to be m=n for R n¥°xi to ensure
that the maa are 19° oW — this answers the third x°wp

i) moown answers that
(1) unlike Y>3aw nn Sy 79%7 where man is needed for the 7771 to be 19> 72w

(2) for 5nx nx°xn all that’s needed is for the m317a to be ¥y *192 2> 1w when
there is n*22 nxmw and there’s no need that they be o W

NO'NT [I'D 2" Tn 't 770 DLV NNIS [I7NT XAIO

R 79127 3oy "2 DOpw UL NI IRT DA AT VPRI XD "D RDORT 0 1''7a
1PoMa 9D PRWR MY PAR 7R DPUD anmn v PR "D 7anan oeeh v Xun
D97 RNMDP PYS MM1RT 2092900 a1 RO RY 11T 57192 910D RO RDT RT B

TB'mY 7' 'Da JITIARTD WA NOTD 192

1) xnp»M32

PR MW "V O3 M 2722 297170 WA 2R "'y nno1 NYnT nou Mo

N2 11 172 2opw R 17 HuanT own nhna

2) R
a) oHvaare 772171 N2aR Hvan because there’d be 01 *Hva wx if o>hya are pow the 1ax
to be >7w the 1ax to 0°2%>
b) xwp
i) o°%vacan sell the nona Pww qv to a >101
c) y™n
i) The 7w is xn1%p 1°v5 that’s too wind for people to eat
3) mooin
a) Nwp
i) If annna has an 979171 9ax — o°ova can be »7w the whole 7»na to o°2%5 without
0% "o WY
b) y»n

i) The nnna that has an 27217 "ax is a p or a similar 7n2a that’s ™2 59105 mn
while it’s 12m2 nan
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C) oRw
i) Why is the 7 different for a ini2 without an 579172 12aR that’s 1122 nan

d) y»n
i) If the a2 is »a "5vuY i — o°hva will take the nnna from the 179 to be 2 51
i) And if it’s not "2 >9vwv% *m — o°%va will be »7w the nna to o°2%>

4) X"wan

a) X°wp to m»doIn
i) Why is the 17 different for obw aw

b) v

i) The xn>n2 deals with an o%w 7y that isn’t *21°0% *117 and that also isn’t "%
even for 0°2%> because it’s Rn*17p 1°v>

2T

MmN A"t

%11 1D NNW IR0 1T PPRINMI B N0 PRINMIT 7900 3707 AN 7772 [2 Ty o 0T
PRINMIT 7927 1707 NN MWKRP KDY PRINFIT 777992 77 NIN AANTR B0 "o npnb

9NN DY 197 N7 00 RPOOD PRINMIT 777902 BaR 15 RS MINT 19 0 17Rb W
29'"™Y 3797 TN 12

NO T

DNX DNTNYZI DNIX DNTNY7 A" Th

B''oy DDAZYR PRWwR "D "7 0" ank anTa anIR anTa? 7''72 [R TRy XD 7]
NP2 WD RN 77 5" DD MR AT NINKA2 RDT N0 DY TIN2TR IR
QNTADY 2ONDT TN 17ADD 29977 AT PRITPT 22 JOIMKRTD 25%I12 DX ANIR ANTAM
DN 921 JNARTD MARY DR TIADD 2977 YRR AR 0 PRI ROR 25012 DR 2NN
ANTADY KT RIIMIR R 2 329 551 anTADY 29007 TOWDI AR VIR 2NT
MR PPTADRA 197 RO 57790 7AD 707 R AR 1 PRT RO P RY A ananey ann
DDA D' 321 IR KDY MY TIADY 277 R''OW anR anTARY WINT RR 29N

5Py EDRRYN YRR anTRT

1) mmpn
a) 'X P05 — "03°12 NX ank anTAN"
b) "a oo — "annwy omR anTaN"
2) XM

a) 77N TA? IR AR D PRW M 77N 1T AR D WU n ann2
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b) "anXk anT? oMKk anTAN" WINT ORN
3) 7177 XM02 "N

a) The w7 isto read 'k poo as if it read ank with 2130 nino to teach that %% ax mun
12°

4) mooin as explained by X"wAmn
a) Nwp to"wn

i) The qwni of 'R p1oo — 03712 nX — itself makes clear that 125 %% ax mxn —and
in fact the X723 in Pw°R noon relies on the qwni of 'k P1oo

i) So it can’t be that "w177 X" from 'k P00 teaches 127 7297 ax mxn
b) 727 of mwoIn
i) The w7 from 'R P05 teaches that "y nXk 7195 21 28 12 PRA”

i) By the way *"wn in pwi7p noon relies on "2 p1os to teach that 2> 28 1% pPR2"
"Xy DR TIN97

5) Twni of mooin as explained by R"wann
a) X0 of oo w2 — anTA W7 R

b) 1o v rely on the word an ™ in 'R p10o — without having to rely on anx — to
teach "nonyya" —meaning the same as for mooin that "n»xy NR 792 27 28 17 PRI

"TIAI A" TN

NN QTR TP RN 321 3P 11D TN AR X7 AR 0 2R nRY T T2
TR ININD VAT MR NN QTR TRIWT RUITT ROWT 707 ORRD pIRTe v R''oy "o
MPON M2 DI RN 1D NITRD D190 IMAW MIAT Minnn Mwwsa v wpn
WIT MIIMT 2 NP PIRAW MMRT RWOIT "D R7AW NI P2 POAR Inna WINYTN
W'D "D B ROW AT PRI PPOIDI AW PRT 2 OUD I°2Y RAIW PRI oI
MR PAIRD 7T PR P2 R PEAY AONYTIR ONOR OPOR KD DaR Minna yd 'ownn
NN QTR TRIY RAPDT RUTTR KDWY STIAR WIWDY 2R ROPODHR KT WP o0
MR RDT A''702 A1 RIAPIRD ROORT NOTT "MINNRT NN 21 1T0 XOWR XD "D TEa
IR DWW NI A1 MBRT KPR PRI POI2I RDINT 1A% NUPS PRI NuIn2 ann
DR NI 2TR 7NDY RY DOV JIARTS NI 91 PRT INORDM JAIN 712 TRV NERIN
RO DR PRI POIDI RDIN 2VIIRD FTRIPAT 2T ITIR DAR 10 YAy PRINm
N7 29IMIRD 72 RIPA NI DOD RTY A1 M™RT "D UM aTR WIWT TR WIS
TR PROY JIRIY JN 7T JITUD 2R RAW O WINTT IAPY 719 NN SNPAD NPOEN

TPy 379 KD 1N WY NN

1) mmpn
5127 50K 191 1702 MR 91 9¥AAW NI A MW
PRI POIDIT NP WO
172 TR IR q%¥M2 2 P mawn

2) mooin at Xaw oXn 7"7 on D A7
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a) Xwp —why is the 7 that pmn for nan and P R for oon

b) yy°n — there is no axma for oo because NNYY VA YR WO M7 PRYIM 10101 OW PR
"o Hva? 1

D127 91K 11 172 Minnk N1 JawnT Nan
PRI POIDIT NP WO
PPOIDI AW PRT 7MWK 01012 wnT oon

PIEYD Pun TP R MT PRIM
2777 dab 1

3) RP™M2 - 712 PN

7732 PN RN127 2773

D127 91K 1 172 NNk N1 JawnT Nan
PRI POIDIT NP W0

10121 QW PRT A 1K 0102 wnT on
1M NRYY 7O Y WO NT PRIM
o Yyab

4) nwpoin at 773 17"7 0N .RJ A7
a) Nwp
i) Why is &n>>12a7 >1a different from mwn oonn

b) v n
i) mwnT oo deals with wxyh qwy — &n°>12a7 >773 deals with onks vy

2UMIRY TRIPW Y72 MR RN™M27 9773
2127 1R W11 172 Mk mwnT nan

PRI POIDIT NP WO
10121 QW PRT MR 1R 0102 TawnT N

IAR-PRESPERYR e 2T PRY

MIYY TR 2RR-orah

c) Twnn of maoin
i) A Rn»92says that v°an 5w 1nn 732 Nan o7R o
i) Why is &n»927 man different from xn»927 >77

RRT DR AWwWa PO TN XN*27 07N
TR 1°010]

bw nun o TEa Nun QTR TRW RNYM2T Nun
an

D127 91K 11 1772 Minnk 1 TWwnT N
PRI POIDIT NP WO

MY W M R 0113 mwnT o
TR 10101 RO

d) yrn
i) The xn»n2 deals with a nian in a different 2xn
5) X"wann
a) Xwp

i) At the 25w before n»woin said that xn»927 nun deals with nanx 2xn — why
didn’t maoin ask why mawnT nan is different from xn>>127 nan
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b) y»n

i) Since as explained by nm»oin the X3 knew that mawnT nan is different
from mawnT 207 because 7awnT man deals with a man that’s not a 7218 M
and mawnT on deals with a 718 N7 to whom 1% jan1 pon Y% wow

i) The x nax also realized that ®xn»927 min deals with a 3% nian and that’s why
there’s no 77°no from 71wnT nan that doesn’t deal with a 1218 nan

c) wwp

i) once mooin distinguished between an >773 1% Who is 2 nx? 7ww to an 1R
01" who’s 1xy? mwy

i) Why didn’t m»oin explain that xn»927 nan is different than xn>»727 >3
because xn>127 nn deals with wxy nww

d) y»n

i) &n>927 man deals with an o>nKR? www IR since the xna at :x> 77 deals with
a mwv by the first nina Hva to the second nian va that *nn npos Xp because
"SIWH INIW WOR PWIOY NWRI? TMI M PIN0? Raw 0"

:ND 7
N'Tnhw a"1n

5oy "2 B 2bwY 790D OR R2OR RT°05 N2 N''RY KRYnw 7772 [2 7MY R 17
NN% 92102 32Y 212 TOaY2 29w MINRT RTIOD ROINRT 179 J10PP0RT 170 N1 mavm
TH'"PY3'112 1Y PPPINIR KPR KON IORT

I''nn A" TN
WR 'R MYR Bar B''oy myn N1 2''ARY "D wwa unan map "o Peran 1T
TH'my 7™ 100 R WA POV TR KD
'91D 2" TN

127 TN DOUH 39073 O o900 KDY MR 29217 NIPIN STAPRAT "1 012 11 ' Ta
BOUD NPT MTIA JAIN RDIIN RO ININD MWD 110 ROWP KDY Doy "o vman
TR D97 T2 PR MISWHT NN YBYaR 'R P02 VMR MR RO PaoynRT
ROUDY QIR PRIIN P01 MDY 5192 NORT VTR P pEAR w7 9h 0N wnw
2''5 IR POIDI AT N9 M1 M RO INPT NPIAIN LT 95T MMD KON 1"

'y
1) There are two MXo73 in 'K Xn>932 at .o a7
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MWY? wpoaw 'R M%7 2120 TN 'R RD73 'R KO3
MR %)Y P73 1R RO
12W 18 212 — 17w JXna 0oy
PR NIAR 87 %32 PR 1Oy Pa0vn
Y 120Vn

XD MWYY W aw Man "1an TR '2 XD 'R RN°M2
2"y MPN Tam T3 IR
q¥m3 Y9°9R) *12n %12 — W TRna
1oy 1720vn (DR

2) 'axnraat:Xd A7

D10 IR ¥ MAB2 7T 1OWH '2 Xn*™M2
791 IR P02 IR VI N
NP SHYAN TR W MPIn

3) mooin

a) °" says that the mpin 7297 in 2 Xn*92 means 2"y MPIn %1 the same as in
'R X2 — S0 that a »127 72 can be 22w a 2"y MY 7797 ina NIAR XN

b) This 7251 is different from "2 X073 of 'k ®n>12 so it must be that > follows 'k X073
of 'R ®n»12

4) X"wan
a) Nwp

i) To prove that >" follows '} &0 of '& &n>12 why does nm»oin need to rely on
mpen > where the proof depends on > holding that 'a xn>12 also deals
with 2"oy mpn

i) when there can be a simpler direct proof because 'a X093 of 'k Xn*92 says °12
»an can be 112 a "1a» 12 not to be a >773 IR X911 — while '2 &n>>12 says there
can be no 5> by »1an *12 of a »121 12 who wants to be a v>»n or a *pona or TN
NPIR *Hyan

b) y1n

i) See > 1"7n where we established that certain n1°1mx have more XY™ 10101
than others

ii) Possibly the n1r1mx *5¥2 °12 in "2 Xn>>2 are those with less PRy 10101

2D 7

D XNPI 2N

"D 70 K27 RAP TR0 OKRT "2 K29 N''RY 1D 0297 XY 772 [R 7MY 20 7]
Y9 TR KD D'RT CIWT I9Y 12 NIAR DR PO PWRITT M PRT 0oy
P77 2R RDR TIDY NVAR "2 PO TONRR JIRNN2 JWIRWRY KON D512 (10U IR
9% 7T RD NYAR "2 922 PO DA 1792 ARY 19128 AR ARPT NINR Y2IN 1R
DIV STWHR T2 923 MINPTD 9R NIRRT NIBR DWW 2T 2R RIR mmb

T mY YRR RN 1T

1) nwn
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2)

3)

4)

a)

NINR "7 117 P71 OK RPX IR 2012 19 00 X2 17720 20192 7110 19010 P n

X723 — R0 of the mawn by &an

XX MR M12 19 7I0° KD 9511 NINKR 'T PINI2 17720 20152 TIN0 17M1 R n

oNAY 79V RITT RWNTT XAV ORN NINR "7 130 P00 10 OX

maoin

a)

b)

First 770 — mynwn of the xnn of Xan
i) wxA built his m> at the 2x» without any pnan

i) when " first built his parallel 5n1> he was forced to be >n7n that 501> four
nak from the 2x» so that xwn7 would strengthen the ypp between the o°%n>

iii) now that the second 2> has collapsed and 1w is rebuilding it he needs to
maintain the same 13pnn of four Nk from the Hxn

Second 7P based on the nvw of x21 at :1 77
i) there needs to be 6 o>nov between the n%5n of N2 that belong to two ooaow

i) when nwxn builds the first 112 he needs to leave 3 o nov between the 55 of his
712 and the =¥» and the same applies to "1w

Xowp

i)  Why in our mwn didn’t wRA have to leave two niak between his n5 and the
R ga)

ii) So that "3 would also have to leave only two nnx between his “m> and the
phga)

X"wAnn

a)

Xowp
i) Maybe that’s exactly what happened
(1) wra built his 5m> at the =xn with a apnan of two mink from the 23

(2) when 1w built his parallel 5> he was forced to be p°ran that 2n> four
mnx from the 5> of pwxra — namely two mink from the qn

(3) now that the second %n15 has collapsed and »aw is rebuilding it he must
maintain the same 1pnnn of four nmak from the 5m> of Pwxa

b) Two ox1°n

i) First yn

(1) If so the mawn shouldn’t have taught its 17 only where there was a n?o:
%m>on and only where there was a *1w — instead the 7awn should have taught
that there is a apnn 127 for any person who builds a 5n1>

i) Second y1°n

(1) The words ymn >0 10 oX X8 suggest that the apnan is from the 3 the
same as for m2 where the 7pnan of three o°ndw is from the Hxn
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22D 71
AN [AX XA AN

TINIINMM A1 RPOIYRY D' OY MYer 2 KUK 1D "7 130 IR R 77172 [2 Ty 20 07
799 RITII7 KON RRIT 2007 K21 MWD 29207 NIAR PAR PRRRT DR 98R N TN

29" PODRY ROW JTAIDR KOTA2 712 WMDY 70V ST TnY

A0 T

"D QY2 N1 At Tn

7329 "2 Bwa 3OBE KD 32277 9" "3 P paar [Ava] (n2) 772 [N Ty A0 07
ROWAMAT SONYTR PIONR RDT TRWPANT 9277 IRTIT RN 0oy "o 2vwnnaT 3190 Mo
AR 2RI 5 DD MW RY RAP RINDY W2 WHDT 2"V KRR 110N NN
TR 2"'RY 9DV WM M PR D"YT RIponh ROR REP RIND W 707 AR 2WRm

1)

2)
3)

4)

5)

22117 RN RI9N 17000 RIDAT 702 KPR DY MU RIT DD Nawa i
1awn
a) Nnp XN

i) DO 17°09° RPW >72 M0 227 anR 22w 17 W1 12 OR RPK 120 7IN2 T 2R WY K7
DR SW 7393 W

b) amm "
i) 7307 2w RP7 PO YR N2
MY = "A3r R means "nnk N3 anmead N
mooin as explained by &"wann
a) The X7 at first assumes that

1) 7217 7w means how far a 7121 is *v»w in total — not just in ays2 AN NX™A
nnx (see *"w)

il) Xnp R0 holds that 721757 2w is nx ownn while 7730 ' holds that 315 aw is
T2 AYaIR NN

iii) ®mp X0 and 570 ' agree that a mav is °oon throughout 73vi aw
NP X222 mwn
a) 2w 1 On2 17 KW 0 2T 1 P P 3"RR 211D 1aw 1POMD PR
X3
a) Nwp

i) The mwn in Xnp &22 teaches that o1 ™ *v>»w and is inconsistent with both xin
Xnp and a7 "

b) 17N — "ROn RNAR D°WHTA 177770701 R C0OW LR
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6) mooin as explained by &"wnmn — k2 of the Xipon
a) Nnby o9 agree that 00 ™ v»w

b) nmm ' by "1vn aw" means "nnr ayea anms nxn" — and it happens that
X972 177°°072 in this My w which is 1112 7v2IR 02

c) For xnp &in the Myw of "73vn 7aw" isn’t relevant because Xnnk o°wnna 17°°072"
"X¥n — note that X»p Xin doesn’t mention the words ";131°77 2w

DX AT

R® IR IRTY 29790 Doy w2 ' Apaba JPIRRRT 9 19 n'RY Ry ' Ta
2N27 KPR JAPDT IR TURRTA ARRR WA DR T KD WM YU JURwR
29 KDWY ONTN2 WA MTNIT APIRR RN PER JWRW KT WA 1ApD wnwT
BoMT RPN P92 1D NN RN MNTAT WMWK RN RITT 000D J108% A1 7oar
7T RD RTI2 JAPDT 'INR TR DR KD OR NITT TR0 1APDT PRNInnKR o'y apn

2'T7Y YRR WA BBD J19Y

1) X
a) 72127 0namwn here — "wIrh P ApIPY PIWT NRIR DR
b) xwp — "X war" in another mawn
C) 11PN — "% RIMVWK P
d) ®wp — R0 NI oY

e) 11°’n— The mwn here teaches that n19% pavw applies not only x7n2 but also °nana
— the meanings of X7r and °nan aren’t relevant here

2) moon as explained by x"wann
a) Nwp
i) How do we know that *nana w1 P
b) y1n

i) Once the mwn here teaches that *nana n12% Pavw we derive by 177 Ry that
*nan2 Paw also for war

3) X"wann
a) Nwp
i) Then why doesn’t the X3 explain that 7221 279 means that the miwn here
teaches for both 1% and woy that *nana P
b) v n

1) °n1°07 PR but the 77p1 of the X3 is that since there is a separate 7awn for wav
it must be that 721 27 would agree that it’s only after the separate mawn for
WY teaches 712 Pavw for wa that we can rely on our miwn to derive 1w
nana for w1 as well as for 17
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INPTNA XIN "IN XNA

23 DY AR MBI AR DY PRIID RIT PR 1D 1AM 29 MR RTY INPIIR RNT N7 "R
19 WIT SIIDIA YR A1 PPUW ORT SO RINRT RO2A 720 N7V R 2" b T
29" DD '0INT 1ANSW D IR RDN 10 DI RY 1wy P

A0 71
NNX 2" TN AnX D'YNN? yin 2" T 'R 7720 719127 X210

RPIT IND 25D "2 RADYT K217 702 "0 7R 2nRnh v a2 'own [2 7y a0 nT)
RN RDIND DR DR IR NN 7ITIND 70 P PI0NAT ONRD N7 RROYT NaM
2" ™Y a1 WY
R 23997 312 171 2o 10 B51 29997 2R KD N'RY DI RN ORTY 7172
TP INRIA DWW RO M1 AR 1 TIN2 RWON2 WY SWPN D''RT RRPYT X211 17
1) mwn
a) XM — 720w Y2 YW RIT O AR DOWHAN TN RYHIT 9197
b) X9°0 — XXM 2w RIT O AR DOWHNN YIN
2) XM
a) 2177 X P P 2N — KA
b) xwp to X117

i) 77R3% the xwn for mnR o°wnn TIN2 goes 217pn Nk — meaning the 72w that’s
TR DWnn TIN2 — even if mnk ownnn vIn there’s a n wUH1T RINK W

C) y™n
1) "I weDIT RIINK XDDT72
3) moown at 8>°57 "7
a) Nwp
i) Butwhy in the xw1 doesn’t the mawn follow &n5v7 8217
b) y1n

i) The xw™ deals with an 193 where xn%v7 X211 isn’t relevant — for example
where there is no other 721w within 01 " which is the furthest flight for a 71

4) Twni of the X
a) Xwp of "9o1°Kk0n RN

i) It’s vnwn that the xo°0 that "R% YW X117 >0 T8 owana yin" applies even if
the 919°1 is 217p to the 72w that’s 7R DwHnn YIn

i) Now it’s understandable that Wxm 5w X317 °77 —and not 2P 72w 5w K17 090
R ownna vna —if the mawn deals with where
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5)

6)

7)

8)

9)

(1) there is the 211 of &n%y7 8217 (as explained in R ownnn v a"n)

(2) or there is the 217 of 1 w017 "R1NR" and the "X1anR" is 7o YW or Hw
o°m> (as explained in MvoIN in X297 7"7)

iii) but if neither of these »217 apply it’s a X°wp that 791 >x71" from the 72 that’s
TR DOWHRNN YIN 2P

b) and since it must be that the niawn deals with where there is at least one of these
two 217 the Xw"1 remains a X°wp to R "

mooIN at 901 °Xmn R "7
a) Nwp
i) The 901 could have come from o°>77 »22w that were 211p
R"wamn at vo1 '8 R "7
a) Nwp

1) Why didn’t m»oin ask its x'wp directly to x1in "1 — in the xw1 even if there is
no other 72w within 7' why doesn’t the miwn follow x»%¥7 X211 based on
o°1v that are brought here by 2°577 »2w

b) yn

i) 2772w are few and don’t count as XnY7 X211
Twnn of the X
a) 11n to the X°wp of 901871 RN

i) The xwn deals with a 919°1 that isn’t n>997 and is 7772 no more than nnR ownan
- since the x5°0 deals with a 919°1 that’s ik ownnn van it obviously deals with
a 71 that is m>-on

i) It follows that

(1) the mawn in fact deals with where there is the 217 of 73 w517 X1°InR that’s
qpon 5w or o'm> Hw or the 211 of knby7 82 (for example because there are
other ma2w within 0> '%) — and this explains why gy 5w X317 °37 in the
XD°D

(2) but the »211 aren’t relevant to the Xw that deals with a 9191 that’s 7177
and for which these 211 aren’t relevant

"1 and mooIn — on the 7170 of the Xna
a) In the xo°0 the 17 is WX W X177 °77 because &nHy7 8217 902 2 511D KR
X"w1n at ek oownanma yin att

a) We’ve established for the x5°0 that the 17 would also be wxm 5w x1 >77 also if
there was no xnbv7 X211 and we relied instead on IR P97 YW KW 1 WIDIT RIINR
o° o Hw

43



AN 2N 2" T NnivoIn A p'7n 71917 X110

"1 9297 97N AT RAYY KT 1D MMIT PRAT UINRR 0 wpn 10 2P 2 7' T2
N7 "9 Y0 WPNT WP WRN T KD RNMMINTA ANTT 9217 9N 17 OKR Par b''oy
JIWIRY 9297 90 11T RADYT K21 7197 WIBIT RIIMN N2INT2 RO7T N7 2n77T "IN
BRI AV AT NI92D 21 PP 217 IDNTY anTT 921 N7 21T RaTp N2
N279 902 9101 MIWPRY X2 10T RDIDT2 RO5T IRWH RDINT J192 9% RDINT 2" 713
"' NS 'OINT 'Y aNTT NINBR Y D RY DR K217 77 RN I RDT RRDUT

ot my

1) nvan ywnT XN»M2

a)

AKX 2177 IR 12917 77223 W2 NI DR T0NW WA M2 F2W NYIN YwNw Y
772721 W2 NAMAT NIAY 7P R¥NIa

2) M2 XN

a)

X217 77 ROR KDVDT MPWI 7177 °N9TT 0 ¥ AK 21777 0K 7709 11NN YwNT 02 - RT M
7 ORI 737727 M12°20 2720 T XA TW R WO NN

3) 7707 R°A102 KA

a)
b)

e)

X1°27 'Y — 2797 IR 1IN 211 2N
Xwp by X1 2

i) For 191y 793w the P09 says m21pn Y R 1221 presumably even if there is
o7 RWDIT PNONN Y

'aRb

1) 7R wDIT NINR XDHT2
Xwp

1) RnOYT7 RN N2 90N
aRb

i) ©°777 2 nawa

4) moon

a)

b)

Xowp

i) Why does x11r "1 need to teach that "2117 9nx 19917 21991 217"
i) We already know this 17 from the xn>92 of m™in ywn

o0 of o"a0n

i) From the xn>12 we can derive only that two >211 are needed to overcome 217p
because the xn>12 might deal with where 717 min%7 aren’t M7 w2

i) X111 ' teaches that even one 211 is enough
WP
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1) We established that x7°1 "1 himself says in m2in> noon that the xn»92 applies
even when m?w1 n1 mno7 and there is only one 21

d) y»n

i) X7°1 ' bases his &71°» in m21n2 noon on the X n of X121 ' that 2171 N2 o
even where there is only one 211

e) Nwp by x"ax1to 0"

i)  Why does x7°1 ' ask his xwp from 191y 793w to x1a1 ' when he could ask the
same x°wp to the xn>92 itself — namely that for 7oy 79y the poo apparently
goes 21p 7n2

i) Now
(1) °»3277 P that if we were to assume that Xn>>R7» two °211 are needed to
go 211 702 and not 217 1na — we could answer that x2°1 ' realized that to a
Xwp to the xn>>72 from 1917w 723y a 1¥7n might answer that the xn>»12

deals with where there are two >2171 because m%wi1 73>72 °n>7 1R — while for
191y 723w there is only one 211 and that’s why 217p prevails

(2) But in fact this 7% isn’t available because in fact it’s only 13277 that two
"217 might be needed

5) X"wann
a) Nwp
i) Even if two »211 were required Xn»IXT

(1) when x7°1 " asked his ®wp to ®3an " the xna still assumed that for 79w
7917y the oo teaches that 217p TR 170917 even against two °211 — namely
the 217 of 71n X 017 °n> R and the xn5y7 X217 that applies to an 7°y that’s
not 0>777 12 nawY

(2) So the xwp would remain why at that point &7°7 '3 didn’t ask his &wp to
the xn»12 that goes 211 7n2 when there are two *a1
b) First y1°n

i) The two »211 for nvn ywn are stronger because they consist of two nearby
»211 — that of 2°va PR "nav 211 and also that "nav 217 in 9°vi N0 are also
R

c) Second y1n
i) x7 ' realized that

ii) If he asked his x>wp from 791w 793y to the ®n>12 a 1370 would have answered
that for o1y 72w the oo follows 217 only because 713°m X917 *n™INR X9 SO
there is only the one 211 of Xn%y7 X217

iii) X1 " therefore preferred to ask his X°wp to X1°am1 'y who says even one 211 is
enough because that xwp is stronger and can be answered only by saying for
1917y 723y there was no 211 altogether because both 73 Xwo17 *noanx 82°% and
0977 1°2 nawY
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6) Twni of moown — nuw of *"1 that’s different from the nv*w of 2"2"

a) The xa1p in the xn>>12 of nyan ywn counts as a mow 897 X2y — it follows that we
know from the xn»92 of n1an ywn that 2177 90X 12237 only against a &97 X27p
gi)la

b) the wy7n of X1am ' is that 2177 IR P27 even against a 7o XaMp
7) nmoon at X1 21200 'Y

a) For the qvw of »" there is the following y17°n to the x°wp of X"2%>1 on why &1 '
asks his x>wp from 7917y 7923y to X171 " and not to the xn>12 of nyan ywn

i) nnTpn — the XaMp of 7917w 773w counts as 21 X7 827 when weighed against
the strong 211 of n°n Xw017 >Nk Y — but the Xxa11p of A1 793w counts as
nomT 82 when weighed against the weaker 211 of x1%37 8210

i) now
(1) If ®71 "1 had asked his xwp from 1917w 793y (that follows o X%7 x2a7p
against the 21 of "nn Rw17 *n>nR °¥") to the kn»92 (that follows 217
against a mom K77 X277p) — the Xmx could have answered that for 793y
1917y the pyoo follows 217p only because n2on w0537 SNk 83°2 — and X1 "
couldn’t have asked further that x»%v7 X217 102 2171 — because the x271p of

791 79AY counts as a T RaT1p relative to xnovT 8211 and the xn*>1a of
nvuan ywn teaches only that 21777 InR 1°9917 against a 721 K97 X27p

(2) x1 "1 therefore prefers to ask his X*wp to X1°117 ' who says 217 overcomes
even a nom7 XaMp so that — after the xnaa first answers X017 *n™nKk X297
n1n — the xna can follow up and ask why for 91y 793w does the oo
follow a no1m7 X2Mp against X1oy7 X211

8) Twnn of X"wn
a) Note that the 797 of mooin for "1 nv>w in X771 21 290 7"7 is similar to the 7%an
of the second y17°n of X"wan for the nww of 2"

791 'XnN 'XTIEA"T NIDOIN A P70 719127 X110

N 29997 5921 ¥191 5" 19 HDI 23997 SN2 R1HDT N''RY DBI RITMA ORTY ;7' 72
B IREIN DR RIS ORI AR ' TIND KW 1TY WP 2''RT RADYT K31 17

TR Dwnnn YIn AT R phn Py

['2IV QY 1A IXXN AT NIvoINn T 27N 719171 XAI0

50w "2 K97 K27 ONIT NN U7 AnnR 7asnb 27 o 2w "2 P Nen 7'
SR FIDIA ROITT "NINNANR TIDRD A" R2TID YT MWPRD B RDIYT AT P
BaR 21T R2TIP MWIT AN '3 TIN2Y 779 RWODIT RIIMR ROON2 RRWIT NAPIND w27
SRITT DARNAT 23 DY AR K217 977 29012 IN PET J90NT INSIM DWW N7 AR "1 I
S"'Y FTTTNR ORI Y IPINT IRMDY PIVY 'DINT 12NSW 1D 2P T AR 2WRAR PINT
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1T X7 1195 RIMP IN3 KDY RADYT K219 N2 B9 79997 1IN 710 2P AR 1D pIna
1197 19T RINP

1) First nnipn
a) Return to '} P2 on the xwp of "901°kn *k7" and the y1°n of 771
2) Second nTpn

a) Return also to "2 P> where noon establishes for > that from the xn>>12 of ywn
nvun we know that 2177 ik 10917 only against a o K77 X277 — and the v of
X111 "7 is that 21177 IR 1°9917 also against a o7 R2MP

3) Third mn7pn

a) N2Mp to a 72w that’s within Ak ownn is a o7 RaMpP — X271 to a 72w that’s vIn
TR DOWHA IS a 101 RPT X2p

4) Twnn of the mwn
a) 19w "2 721D 21921170 'R WD 2P MW AW P R¥A]
5) Twnn of the X
a) Nwp to X1
i) Presumably the 127 is that Y>w '® 721w% 2P even if '2 72w is “1n wol
6) mooin
a) Nwp

i) The 7 of mo2w *1w 2 wwxn must deal with where both m>aw are either 7n
TR QWA Or AR DWhana vIn — because otherwise the 2°%%5 in the mawn on
TR DWW N &Yl and TaR 2wnnn i xen would apply

il) it’s 7anon that "Yow 712 219p" counts as n21m X7 X27p in the 019 where the
two moaw are both nnx o>wnn 70 or are both mnx ownma vin — and since the
X773 in its Xowp to X121 ' assumes that the 1>7 of moaw 1w applies also where
1 w917 X1NR XX it follows that the awn teaches that even a 897 X271p
nowm is stronger than a 21

b) xwp

i) The & nx should have asked that the mawn is a x°wp also to the xn»12 of ywn
nvun that according to °" teaches that 217 is stronger than a nowa 827 X2p

7) X"wann
a) mooin could have asked two nvwnp from the mawn itself

1) First — we’ve established that the & n3 in the X1n& M assumed that the 7awn
on "MIRZM SW RIT T AR DOWHMA 1IN R¥H"

(1) deals with "1 w517 9P 5w IR 22013 YW RIIMR RI°RT2"

(2) and follows 217 against o K77 X27p
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i) And second — we’ve established that the X723 in the Ripon holds that where
TR Dwnnn vIn a7 the 731 counts as mon and that the mawn says w Ry >0
¥ because the 211 of X177 8217 overcomes n217 X7 X21p

-1 T

NN'MIXT NN "I ynw a"T1a a"an 'n 70 7190271 X210

PR PTIAR TR KD AP TONINT X21M27 "0 XA AW 72 a"AT [N TRy 7o 07
"IN N7 N0 29PY 2107 R0 " DR ORD DD TR ROWR R TER »'x By "o
AR STONINT N2172 RDR DAY KD Dinn TaT mmb RDR KT D nvun v R
7' SRR AR STONORT R2YT N7 N0 NI 0T 1T POT P12 RO MNTD
PADRR TINR DARR 9ITT 2T MR KDY 2177 MR PODNT AR TNI0T X272 ERT

“ITY VR JAP F1ONSDT K212 ER 11T

1) xm

a)

717 vaw from a certain ®n>12 of x°°n ' that X217 is XN IRT

2) 1"

a)

Rowp

i) MVa% 0227 IR 2900 RIAPT PTR? TN R? 1P ONORT RD

b) y1n

i) ®27is > from the case of X1 ' that X211 is kn»>7Ix7 also for 1ap “n°%7 X2

3) X"wann

a)

b)

XWp

i) We established in 'a p7n that moown asks what is it that x1ar " teaches that we
don’t already know from the xn*92 of n1an ywn

i) Now
(1) the xa in 1911 noon says that the 217 of nyan ywn counts as »noX7 X210
mp

(2) and maoin ought to answer that x1°111 "1 teaches that even 1ap “n"%7 X211 s
stronger than 211p

ToRY
i) How do we know that x1ar " said his 177 also for 1ap “n"97 8217
7awn

i) The x7nx asks nrwip to X121 ' from 7917y 79y and 72w that are ap n°%7 RN
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INOI? "2 2" T NIDOoIN ‘I P'7n 71917 X*A10

INIAT N7 ONTY "SR DaR B''oy 72T RaMP T 77 A 702 "D R 2 '
D577 MM2IY RRPYT K217 KDY RI7T QW PPIRA7T HRIWOAT 71T K2R RIT 29IDMT 72
15PN IOYAT R2TIP NN IT AVUNRT RAXM RITT 023 DWW o w2y

1) X

a) 217 R 777 RPN M2 79 120 KD RDOH R 11 ORDIP 22 JIONWRT RVAMT P71
SR 2P MR ROR RabyT 2"y

2) "vn
a) X9 °2 means the 0°193 in a YR w> 01> where the >p1 were found
3) mooin

a) °xo1p °2 means a place named &9 where the >p>1 were found in a way that counts
as nomT X2MP

4) X"wan —xa of mooin

a) In'ap5n we said for °"1 that the point of the x7n 7 of k11 ' is that we follow 211
even against nom7 X27p

b) Mmoo recognizes that for >"wA it’s clear that there was 11217 X2 here because
the *p>1r were found in a "X 21>

c) But maown who says *&91p *a is a place name needs to explain that the 1 were
found in >x2p °2 in an 1918 that counts as 217 X21p

xn'? 2" T nivoIn 't p7n 71917 X210

72772 RTIAPN 7905 DIpDT 2R B oy "1 K20 KT 95 177 00 nvd X2 R '
7Y% MOR R2TT 2 ROR TOD KD RO7TT M1 12787 "D 17790 779 1207 2R RO
2T T R D

1) X
a) ' pon
i) X2 derives from x>>11 "1 that the of X117 " is correct
b) "2 pon — qwnn of the X
i) "R°17 "0 9" K127 ’0D"
c) ' pon —qwni of the X
i) "RPIT 7D K27 7D 720 KD RD"
2) nmoon

a) The xna asks "&1°11 7% 827 7% 720 KXY ¥1°%" because a1 had previously said that
he agrees with 21 '

3) R"wAnn —TRn
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a) M»ooIn needs to explain that it’s because of a 771°no with the first xan°» of X217 that
the x7nx in the end says X1°117 '72 827 72 720 &Y X7

b) Because otherwise — after having asked "x1°1m "3 "0 81°277 Xn°%" — the X
wouldn’t have asked the reverse Xwp that "R1°17 "3 "o XH 8277 81°%"

.12 7T
['7'80 DX |'P'NN

wRDR IN2 DO "2 PR TR 20991 10 9N DR PROTn 72 [2 Ty 7o 0T
5™ AR PR W2 2N J129 PIDNAT IRMDT 2OPIT A1 VP KDY IR ¥PIT Ninna

N 7

D'MYUN XX n"Tn

%02 mswT ATYRT TIRPY PR awnT B "1 2wt Raxy a''Ta [R Ty e 0T
N2z 2"RT WP MR 7D D'y 290nh By D B0y "D TR 732 KU 12 R''N
N2X 9 29w R'RY 2''02 RO DWAT RWORT TR ORMAD KDY A1 29w

SP'1TY 2R WYY MR TRD D' 29w 7D D'y TR 7RY RPR DR avaws

n'n™ NN A" T

557 WP BaY "D YN Bon Ml RO 'anna yRwnT "o nmere ma a''a
PO TR RUTR NO2ATPR MIT 2R Pinna 2wk BaR Pavinna v''wn wynh
ARW DaR 2919 TN WP NNRNYR MW ROR 792 R "D P R 1 e,

TP'ITY NI MM TIBR INT PITNT WOR MM

1) nwn
a) A poma must be placed v nama
2) ""wn

a) This is because n°nama mA is the most gentle mn and although it blows from nama
to 2w towards the city it won’t be strong enough to blow the odor of the *po2
all the way into the v

3) mooin at Pww PR A"

a) nmwn mAis typically strong and prevalent — a *poma is placed n7mma so that mn
nra7yn will come from 299 and blow the odor of the *pom1a from its place nmm2
7y further to nam

4) penara ma a" meon
a) n it mn is generally the most gentle of all mmn
5) X"wann
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a) It’s only for *"wn nuw that it’s necessary that n°ram m is generally the most
gentle of all he mm

b) for mooin all that matters is that n°a7v» mA is the strongest and most prevalent m-

D q7T
MYYAL Y AT

12 P9I PR PYANY PRI PR M T "D "Ry w772 [2 Tmy e 0T
RY 2 N7 WY PP 1T Drab waT 2mn 17 Bo% 10NN AR 2oy " a7
NP7 IRDY 79997 9993 51977 110 PRI DR Nun T ARp aTwnY 9997 %
=755 SPaTS IRWY 57197 192 P97 IRT 120D 'NINNA 1nK Raa T7a RTT P2 NDN v
TR ROR ARPT RIPDADT D707 NLOWA N 7' DD 1T RIPOADT RUR RPOYR

1)

2)

3)

4)

5)

6)

JH'"PY 22 KPR 2R DY A0D KPY 927 Bo2 70D M ol Xa® 10 R1%an

First aTpn
a) Xyaat v

i) Maaw PRITAN?T 23 5V AR N0 KD 1817 DR 79702 1712 TH0? KT — X2
Second TP — X2 at .M A7
a) MM NRTIP NI N ORI P2 NDT KDY 1IN KW XN AN PN W NI 27X 7NDY RO
X3 at . a7
a) Nwp to X2

i) By saying anmn na7p no7 anv ok the kn»»a in effect says that pwxn can be
ylaie!

b) y1n
i) w777 — we’re 2pn in favor of a porn for what he does in his 7907
moon here as explained by X"wAn

a) It’s "anon that the 7 of "0 xRS 7P e ox™ applies to "yPminm 5w nan' as
well as to 7pa non

b) Now even though it’s possible that 92 no1 doesn’t count as "7>7 >3 it’s a MY Wo
that 1»1nm1 YW mian counts as 97 )

c) It follows that PwxA is 0% *w even for a p>in that’s 977 >
Twnn of mpoIn

a) The xipon of the x>0 holds that 79°7 isn’t kW

qwnn of R"wann

a) By "the xipon of the x°x10" mooin refers to the qvw of n"> and n" at 5251 7"7 on
:m A7 at 'n pon at the end of the x>»o of 9771 that holds that X2 says 7210 1°k only
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for m12 — so that there’s no need for X271 to say *axw 117>7 to be ynn the X°wp to him
from the xn»2

1D qT
I'nannT 270 TN NPT AT TR R P70 RpTT NALo

B2 172 RY PR RO PaAR "2 WRD T RDT IR 1D RPT 772 [R TRy 10 0T
739227 1192 "12 19007 11aARY A1 AT RDT NIP TIN2 PO 22T By "o apw
>y noRIT 2TIINY 172AY 2TRT VY WRT WY DT ANT WRN2 IO M 23PN 190l
NINo7 PRI RDN MR NPT 957 2W IITY RAPIT BY N0 PR ROT DaAR 7IRR M0

TP'NTY YT Y PR PR DD 1720 RY PR unn

1) First nnTpn
a) 1127 say that wxy nX P72 Pt YY even where there’s no 97 5%
b) >0 1 says mEY nR a7 P 2y only for W97
2) Second mnTpi
a) moown at ;10 A7 at a0 ko A"
i) All ppma other than 12°x count as »9>7 >3 for »o1 '
3) X

X127 "R IR WK ORI ROPI OIIR M RINPD VXD M 3 11 12 027
RPT RIT RPOT X7 W10 P2IRT 9927 2377 D977 571732 °01 M 771 100K 03 177 R
9 0N

2WNT INYI0N MIT QN1 NAWA 11T 77T RIW ORA WK 2712 1 72 P
M1 PHIT AT NAMD NAWA FORIN W D

4) mooin
a) Nwp to X121

IEA 7172 19921 33T WRID IO IRWDY 1090 MIARK MIAT U7 WR QW 19
217 P

b) y1n

M7 Y10 K72 1727 WRIT DR QTRA TWYWI ROR WR 2WA 20 TRT WRY T R
X7 M 7 HY NI 0 NN

T RY 117 IRY ORT M7 0T 9¥ KOR POV 921727 [RNPA] Aww PR RO DaN
PV 92 K7IR RNPD

5) X"wann
a) Further 72071 of the y17°n of msoIn

i) A person who places Wwn1 12°00 122K on 27 w1 places them there naoa —
that’s why this counts as 1727 Q787 >7° 2¥ W7 Wyl
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i) Contrast ¥np2 which the person never intended to be r°31 anywhere

I'NnNT 7271 TVN2 NIvoIN "2 PN Xj'TT X*AIO

200 'OINTY R''oY "D 23R RDT 9197 R2VR VR RO 12272 InnT B 7''Ra
MR 27 72 1D 197 190N ROR 20D KDY 2''0 PINR NIRRT RN awa wh
IP'IITY MIMRDY

1) nntpn

a) We’ve established that X1°27 holds the xnp1 doesn’t count as 7>7 >3 while 12 9n
*wX 27 holds that xnp2 does count as »7>7 *°x

2) Twnia of mooin
a) Xwp to R0

i) At 7017 the mawn says 2w 1 173 PRonn — presumably because vy from the
1773 counts as 27 >3

i) Why does x1°27 say that xnp is different from 1713
b) v n

i) The mwn on 1 doesn’t involve 7 »3% — instead the mawn follows 1127 who
say p°n1I% P ma 9 even where there is no 97 57

3) X"won at v w782
a) Nwp

i) But m»oin at :25 77 based on n1"1 said that all 1°p>1% in this p19 count as >3
“5>7 except for 17°x

b) y1n

i) moown at ;72 77 follows *wx 27 92 71 who disagrees with &1°27 and says that
both the 71wn on 1713 and the case of xnpa involve %7 %3 — and that "o '
requires niprn for both

D QT
" XT TV A"TN N 270 0T |7'R0 OXT XL0

D7IP I2ONT AN 12 WTRIDRT anan "7 WanRY "1 90 MaRT 7Y ''7a [2 Ty 10 0]
S"'YT PIPY ROR NN ORNMT PRTY PWIP RATIT WY 2R By "o PP KD
YR INPT "IN ROWP 927 IRY ORT PIIPY IR 292 DaR RPNy J9IN2
tP'N7Y RO N DY PIRY RDT ann IR 7
1) a7 mwn
TP KD AnTR 12K ORI PXIP 72TP 27 OR ARR 70 7127 10 120K DR R0

TIN2 VI N 19W TIN2 0 AT IR KD NATIR MW 9D DY AR IR 01
Hw

53



2) .0 A7 mwn
NAR VIR 737 P07 19 O KR 17720 7709 71N 12K DR Y10 KD

NX 20¥° ROW 72 MO0 '3 PPRYn 171020 YW 7w TIND QORYY DWW 10
privzalalalahy

T PXIP M2 9N
3) X

a) NDH 27 was vui an 12°r next to the 77w of ywi° 277 ™2 R’ 27— 277 M2 RNT 20
Yy was later 79 a M2 and was v the 2w of the 12°x of x99 21

b) %25 11 tried to prove that vy 297 92 k1177 27 was incorrect but at first % 9220 x>
— in the end xo5 21 succeeded with a v based on a X n°» of 770 21 that Hxn
12P7P% TOR 0227 12 3P Y — the oovno of this Xon aren’t relevant here

4) mooin
a) First xwp

i) It must be that “1xw o°27 and the X of 7797° 27 isn’t relevant — because
otherwise the 7awn at .15 77 that says for ™2 that 771 yXIp M2 991 s a Rowp
to 77 20

b) Second xwp
i) What earlier proofs did x99 27 bring that yw37° 297 12 X117 27 was on
c) ynof om0 to the second Rowp

i) Xoo 21 tried to prove from the mawn at 15 77 that where the 19°x is nn7p there
IS No n¥xp

i) But the proof failed because “ixw ow w — the mwn at :172 77 says that there’s
no nx>xp for 12°) — it doesn’t say that there’s no nx°xp for oww

5) X"wann
a) Nwp
i) "ano7? 2 xowp R

(1) Just as mooin in its first x°wp asks that ko5 21 should have realized that
there’s no "X1 from 0°27 12y W %7

(2) mooIn should have been 72397 the y11°n of amn 1227 by asking that x95 29
should have realized that “axw o*ww because otherwise the mawn at :70 a7
is 9o the mawn at .10 77

b) This xwp doesn’t apply to a mv*w of an 11°27 that MmdoIn sets out at length

7 v TNl 7TA 2" TR A 270 0T |7'R0 OXT XRAILo

YATR K97 K237 "D R''op 1o MR T RONR SPANT P2 KD 3207 "0 X7 A 7'
TIN2 DU 7T O"TRT RONR 112001 ROITT MANRA ANPTS R''T NRRTTR 930 a2 AR
BP0
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N2O0 2" 31 Doy "D 22 10 OPIATD RPANRD NINR P M7 RIWT B 7''NRa
STD QMM PRWRAT WP PO0DR RANX PRI MR 1D PRIV PRI 17T NINPT innT
VIR 'ANR MRT B 9T RY 191N DaR 2IDY TRBW PORYR STROMMNT 2030 NYw

1)

2)

3)

4)

5)

' my AN 1S
N2

TRY — 17720 37w PIVT R 121 AR 10 TIN2 %A TR0 190K R2W AR
0°7122 1% PRAN

mooin as explained by &"wann
a) Xwp to ROW

1) "127" require only a apnnn of Nk '
X"wAnn at 191 a7

a) mooin refers to 1127 of the mawn at 15 77 who require no pnan of K 7" where
the 12>k was o7 — and instead require only a ipnnn of ninx '7 for 0157 N2y under
the mwn at .10 7

b) For >0 " no apnan of nnx "7 is needed for 01257 N2y under the 7awn at .15 A7
because >0 "1 says in the 7awn at :712 77 that Y>w 7ina yuu an “Y N2 9 it

Twni of mpoin
a) y1nto the Xowp to X7

i) X9 agrees with 1127 and explains that the miwn at .15 77 deals with where there
IS XA1X so that we’re not concerned about 171°2n 77wn 72 and that’s why a
apnan of four ik for o757 N2y is enough

X"wan at v wn 7"Ra
a) Xwp to ROW

i) Inthe xo°0 of the mawn at .10 77 that deals with "oomou 3 poavn PRI YwIw via"
there can be no xnnx because xnnx would make it impossible for the aw-w to
be prxy

ii) Yet although the mwn in the &5°0 says that the 77w Hva can be onow s ponvn —
the mawn says nothing about the 17°&77 Hva counting as a 121

b) v

i) The x50 deals with where the ow~w extend beyond 16 nX — in that case the
12°R %¥2 no longer counts as a 1713 and the mawn teaches that the 77wn Yva can
still be oondv '3 Ponvn
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H''RD Doy 1D PR AR DA WD JI9073 KDY AR PIa0 whe 7R
1) mwn

a) Three na>x are 1 from an area of 50 nax by 50 nwax or 2,500 square nnx
(>7n03) at the rate of 833-1/3 »1°nna for each 79°x

2) XM

a) X9w says that an 12°x is P11 from an area of 16 mnx in each direction, namely from
a square of 32x 32 nwax or 1,024 >7°n1a per 12K

b) xwp

i) How is X7 consistent with the mawn that says the np°2> is only 833-1/3 773
c) 1IN

i) Partl

(1) When &7y says that an 17°x is par> from an area of 16 nix in each direction
from the 12>k he means a circle with a radius of 16, a diameter of 32 and an
area of 768 >7-n7x as we’ll prove below
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(2) This is 65-1/3 »1°n"a less than the 7w w of 833-1/3 »1173 in the mwn
i) Part2

(1) The 833-1/3 »1°na of the nawn are equivalent to the area of a circle with a
radius of 16-2/3 ik and a diameter of 33-1/3 X as we’ll also prove
below

iii) Part 3
(1) 7w wasn’t p7 on a difference of 65-1/3 >1°n1a that represents a difference
in radius of only 2/3 nnx

3) Proof by an "2 that the area of a circle with a radius of 16 is 768 >7»73 and that the
area of a larger circle with a radius of 16-2/3 is 833-1/3 >7»73 or 65-1/3 >7°n73 more
than the area of the smaller circle

a)

b)

d)

Part 1
1) The area of a square is ¥4 greater than the area of a circle inside the square

ii) In other words the area of a square whose side is X is ¥ greater than the area
of a circle with a diameter of X

iii) So that a circle with a diameter of 32 has an area equal to % of the area
(1,024) of a square with a side of 32, or 768 >7n7

Part 2
i) Take a strip 65-1/3 axk long and one nnx wide that has an area of 65-1/3 >7°n7

ii) Split the strip into three narrower strips along its length and then attach the
three strips to yield one long strip of 196 X by 1/3 fnk

iii) Cut the one long strip at its middle to yield two strips that are 98 nnx by 1/3
MR

iv) Combine the two strips on their widths to yield one strip that is 98 nnx by 2/3
MR

V) This proves that a strip that is 98 & by 2/3 nnx has an area of 65-1/3 >1°n3
Part 3

i) Consider how long a strip that is 2/3 & wide needs to be to surround the
perimeter of a square with a side of 32

i) The strip for each of the four sides other than the corners would have to be 32
nR by 2/3 i for a combined measurement of 128 mnx by 2/3 nnx

iii) The size of each of the four corners would be 2/3 nnx by 2/3 & so that to
cover all four corner requires a strip of 8/3 ik by 2/3 fnx or 2-2/3 finx by 2/3
R

iv) The combination of both measurements is a strip that is 130-2/3 nnx by 2/3
R

Part 4
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i) We established earlier that the area of a square whose side is X is ¥4 greater
than the area of a circle with a diameter of X

i) Similarly a strip with a width Y around the circumference of a circle of
diameter X has an area equal to % of the area of a strip of width Y around a
square with a side X

iii) So that

(1) If a strip that is 2/3 nnx wide needs to be 130-2/3 ik long to surround a
square with a side of 32 mak

(2) astrip that is 2/3 nnx wide needs to be only 98 ninx long (3/4 of 130-2/3)
to surround a circle with a diameter of 32 to yield a larger circle with a
diameter of 33-1/3

(3) and we’ve already shown that the area of a strip with these dimensions is
65-1/3 773
4) Two proofs by >"- that that the area of a circle with a radius of 16-2/3 is 833-1/3
7173 or 65-1/3 73 more than the area of the smaller circle
a) First proof
i) Partl

(1) Consider a circle with a radius of 16 mnx and a diameter of 32 that has a
circumference of 96 based on the rule that the circumference of a circle is
three (an approximation of pi) times its diameter

(2) Now generate a larger circle with a radius that is 2/3 of an 7nx larger so
that its diameter is 1-1/3 nnx larger or 33-1/3 and its circumference is 100

(3) Place the smaller circle within the larger circle and cut off and straighten
the portion of the larger circle that extends beyond the edge of the smaller
circle to yield a trapezoid that is 2/3 & wide and that has one length of
96 (the dimension that was the circumference of the smaller circle) and
another length of 100 (the dimension that was the circumference of the
larger circle)

(4) averaging out these two lengths yields a rectangle that is 98 mnx by 2/3
R

i) part2

(1) on 120 has already proved that a strip that is 98 nnax by 2/3 7 has an
area of 65-1/3 >7nn

iii) part 3
(1) so we’ve proved that the area of the larger circle is 65-1/3 *7»7 larger
than the area of the smaller circle

iv) X"wann —another approach that proves that the area of the larger circle is 833-
1/3 > 7mn
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(1) We’ve established that a circle with a radius of 16-2/3 and a diameter of
33-1/3 has a circumference of 100

(2) Consider that the smallest possible circle with the same center as the large
circle has a radius and a circumference that are infinitely small and that
inside circles with successively larger radii up to 16-2/3 have
progressively greater circumferences up to 100

(3) Follow the diagram printed in X"wann
(a) cut the larger circle from its edge to its center

(b) and spread out the circumference of the larger circle and all circles
within it into straight lines to yield a triangle whose base is 100 (the
circumference of the large circle) and whose height is 16-2/3 (the
radius of the large circle)

(c) cut the triangle in half along its height to yield two right triangles that
each has a side of 50 and a side of 16-2/3

(d) join these two triangles along their equal hypotenuses to yield a
rectangle that is 50 mnx by 16-2/3 niak

(4) the area of the rectangle is 833-1/3 77
(5) this proves that the area of the larger circle is 833-1/3 727
b) second proof that a circle with a diameter of 33-1/3 has an area of 833-1/3 >7°n"a
i) A square with a side of 33-1/3 has an area of 1,111-1/9 >1°nx

i) We established that the area of a square whose side is X is ¥4 greater than the
area of a circle with a diameter of X

iii) Deduct one-quarter from 1,111-1/9 to yield 833-1/3 >7°n"a as the area of a
circle with a diameter of 33-1/3

5) mooin "t pya R"as explained by R"wann
a) Further proof that a circle with a diameter of 33-1/3 has an area of 833-1/3 *1na
b) Partl
i) Approach of "1 1y X"

(1) A nxo nrais 50 by 50, so that a third of a nxo n°2is 50 by 16-2/3 or 25 by
33-1/3

i) Approach of "nanx 777"

(1) A nxo nrais 50 by 50, or 100 by 25, so that a third of a nixo n»a is 33-1/3
by 25

c) Part?2

i) The area of a circle is % of the area of a square that has a side equal to the
diameter of the circle
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i) So the area of a circle with a diameter of 33-1/3 is % of the area of a square
with a side of 33-1/3

d) Part3

i) Since 25 is ¥ of 33-1/3 the area of a rectangle of 25 by 33-1/3 is also equal to
% of the of the area of a square with a side of 33-1/3

e) Part4

1) So the area of a circle with a diameter of 33-1/3 is equal to the area of a
rectangle of 25 by 33-1/3

f) Partb

i) Since we’ve established that the area of this rectangle is also the area of a
third of a &0 n°a, which is 833-1/3 773, it follows that the area of the circle
is 833-1/3 »1n3

N1 X'an A Xn 2" Tn

ORI 91 FIRTI B''OY N5 RITIR ANPT RDIWM 5N A" XM RaR A X7 a7
RU27%7 NUYOR '22 2INPT RP1T IRD2 RRWOIT XD T0RY »2''07 207 ’nws 7o
AN T RYD PI0RT IRRDY RNPR 2X TI5RY 90 RITOIT RPN D90 RI22 PRT KRR KDWY
R® SR PPOP 71 OR 30 RpDOMT 217 RTP KDY N0an nuLIR '227 N@Ryw 1R

:H'"PY 1295057 D2 TP JARTS

1) X
a) D027 PRAA PRI RIT T IRKR 10 TIN2 T8RD N0 TR ROW MR
2) Xn»™M32
a) RTIPIPRI RN VPP T3P RD 17020 SW IN2 NIDOR W T3P
3) X
a) Xwp to ROW
1) RITW 92 ¥PIp ROXR 7P RY 199DR IRD XD RNPY K221 WO KA
b) v
i) In fact the np12 is nnp 16 mink
4) R"wamn
a) Nwp
i) Then why is it that n11%°X '2 P57 isn’t X7p
b) y»n

i) The nnp of Ma?°X "1 is X*2n because it’s a po0 that he might be ypap anp —and
he’s not XM because of the oo that he might not be ypap mnp

5) mooin
a) Xwp
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i) Why didn’t the X mx ask its X°wp to X7 — 92 ¥pIp KoK 71P X2 199DR IR °R»
"R —directly from the x5°0 where the &7m3 says that X791 X221 MR '3 anpi

b) v
i) The x na prefers to ask its xwp from the xw
6) X"wann
a) Nwp

i) Even from the xw>" the &7nx could have asked its x*wp more directly without a
P17 —namely

(1) the xw»1 says that although nia%°x "2 npn isn’t kP still he’s ®0an

(2) yet x7w says when the 12°X is p11° from another’s ¥pap the 12°K 9¥1 is a 1713
and there isn’t even a 78277 from that 17°x

b) y1n

i) The xna prefers to ask its xwp from a case (mMi2°k 'x 713p) where the xn»92
implies that the n1p is both x°an and x71p

T Q7T
110 "7117NnTaI TN

ph B'op "D MIYa AW INWIY 152 RUARw 1D 90 enTaY a''7a [2 7Y 10 0T
BaR FIRPMIVT AN 292 WITY KON DAL 0T KD INRT 210 annnT N v''en
BaR NP2 BYY 1207 DY POOTING 2ODIVITT M1 PRARK RNIN22 NPT IRM™IUT IR
TIRAIWT NN 29 QM A1 RDN 1IN DIV INWOR wIND W T awp 'omng e
B'"aPT 27T M TDINT WINIED BN IR PIRPaR RNIINRT IR DY PRRI R 7
TV T WRAD PTIMDRT NIM ININD I TITIWD MIPT AN 0'YT RNN2a
NIV MY TITI MY POIRD D120 nIva RO TAT IRRMWT DN O8N wwre wo b

1H''RY IRPIWT DY 2107 HY NI DONIRY nIYT Nnn X2

1) mwn
a) TIRPIVT 2151 YXIP 0207 MWI? AU RITY 1R v
2) Xn»™M32
a) "nRmwT AR 21n"
3) xmx—ifiit weren’t for the Xn>12 we might have thought that »xo X122 979172
4) "wn
a) °7%n7 means a thinning of o°27 o°o1v to reduce their number
b) The &2mx means that
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5)

6)

i) from the mawn we might have thought the only wwn is that an 27y might drop
a XM N°1 on o°o1y that are numerous enough to support the naxmw and that
thinning out the a°s1v is enough to avoid this wwn

i) That’s why the Xn>92 needs to teach that nx>xp of all of the o*»1v is needed
because of the wwn that if a 7R n°12 is on the ground an 71y that remains
after the thinning might be %°x on the nxiaw and an 22w at the same time

Mmoo — nww of 1"
a) "79n7" doesn’t mean thinning because even thinned 2°01v can hold a nxnw 01>

b) "™9,5n7" is a nx P for a scarecrow — x"wa refers to 7w 1o0 who explains
that the purpose of the >>1%117 is — "11712°1 M7 aMR NITIAWD MOWn Tonon?"

¢) The &7m3 means that

i) From the 7awn we might have thought that a *>1%r17 is enough to cause an 27
to leave with the nnn n nord

i) The xn>n2a teaches that — even if the 27w leaves — a nni7 11 n°r> might still
remain on an 71y to be Xnwn by ar an 12w who passes under the xmw — and
as a result the only mapn is to be yxp all the ooo1v

X"
a) Nwp

1) It’s ynwn from the x»a that the xn»92 teaches that an 121w might become xiv
because an nay might be %>nxn on the xmwv and an 121w at the same time

b) v n

i) Must be that the &n>92 teaches that — the same mn that’s 71731 the *»1%n7 and
causes an 71y to be na and leave a n»i 12 n°1> on an 7w — might also cause
the nni7 1 n°1o to fall from the o°01v to the ground even if the 001y aren’t
thinned — and an 71y might in fact be %1% on an 72w and the xmw at the
same time

**k*k

9 XY 19V 1170
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